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Abstract

In this thesis we model a response-adaptive clinical trial as a Markov
decision problem. Patients are treated sequentially and allocation
of a study participant to a treatment is allowed to depend on the
previous outcomes. To do so we present the main solution techniques
for Markov decision problems with finite and infinite time horizon and
give some examples. Then we discuss how a model for a clinical trial
can be constructed. Our goal is to detect the superior treatment and
keep the number of patients receiving the inferior treatment small.
Finally, we carry out some simulations and compare the technique
with an equal randomization strategy.

In the first chapter we give an introduction to Markov decision
problems and consider a few examples to get familiar with some basic
concepts.

The second chapter presents the basic solution theory for finite
horizon Markov decision problems under the total reward criteria. We
define the Bellman equations which are an optimality condition for
Markov decision problems and have a look at the Backward Induction
Algorithm. Finally, we solve the examples introduced at the beginning.

In the third chapter we take a look at the infinite horizon case. We
work through the relationship between the solution of the Bellman
equations for the infinite horizon case and an optimal policy. Then we
consider the two most important procedures solving infinite horizon
Markov decision problems: Value Iteration and Policy Iteration. We
prove the convergence of both algorithms.

Chapters 1, 2 and 3 mainly follow the book [Put94].

The fourth chapter connects Markov decision problems with clinical
trials and is based on [Pre09] and [BE95] where bandit models for
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clinical trials are introduced. We assume that the trial members are
treated sequentially and the response is observed immediately. The
main idea in these articles is that allocation to one of the treatments
is based on what is learned so far so that

1. the superior treatment is detected in the end and
2. there are only few patient losses due to learning effects.

We investigate the applicability of the solution techniques discussed
in the previous chapters and provide some numerical results. These
techniques are particularly suitable for rare diseases since the patients
are often in a live-threatening situation and clinicians do not have the
possibility to rely on big clinical trials. Furthermore we compare the
outcomes to an equal randomization strategy.



Zusammenfassung

In dieser Arbeit modellieren wir klinische Studien als Markov-Ent-
scheidungsprobleme. Patienten werden sequentiell behandelt und die
Zuordnung eines Patienten zu einem Medikament darf von den be-
reits erlernten Behandlungsergebnissen der vorherigen Studienteil-
nehmer abhéngen. Dazu erarbeiten wir zunéchst die grundlegenden
Losungsmethoden fiir Markov-Entscheidungsprobleme mit endlichem
und unendlichem Zeithorizont und besprechen einige Beispiele. Dann
beschreiben wir, wie ein Modell fiir eine klinische Studie konstruiert
werden kann. Das Ziel ist dabei, das bessere Medikament zu erken-
nen und gleichzeitig die Anzahl der Studienteilnehmer, welche das
schlechtere Medikament bekommen, gering zu halten. Schlussendlich
fithren wir einige numerische Simulationen durch und vergleichen die
Ergebnisse mit einer Randomisierungsstrategie.

Im ersten Kapitel geben wir zunéchst eine Einfiihrung in Markov-
Entscheidungsprobleme. Danach besprechen wir einige Beispiele, um
mit den Grundkonzepten dieser Entscheidungsprobleme vertraut zu
werden.

Im zweiten Kapitel erarbeiten wir die zugrunde liegende Losungs-
theorie fiir Markov-Entscheidungsprobleme mit endlichem Zeithori-
zont unter dem Gesamtgewinn-Kriterium. Dazu definieren wir die
Bellman-Gleichungen, welche als Optimalitétskriterium fiir Markov-
Entscheidungsprobleme aufgefasst werden kénnen, und beschreiben
den Riickwiérts-Induktionsalgorithmus. Schliefflich 16sen wir mit seiner
Hilfe die anfangs beschriebenen Beispiele.

Im dritten Kapitel betrachten wir den Fall des unendlichen Zeitho-
rizontes. Wir erarbeiten den Zusammenhang zwischen den Bellman—
Gleichungen fiir den Fall des unendlichen Zeithorizontes und einer
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optimalen Entscheidungsregel. Danach beschreiben wir die zwei wich-
tigsten Losungsverfahren: Die Werte-Iteration und die Entscheidungs-
regel-Iteration. Wir beweisen die Konvergenz beider Algorithmen.

Kapitel 1, 2 und 3 basieren in grofien Teilen auf dem Buch [Put94].

Das vierte Kapitel verbindet Markov-Entscheidungsprobleme und
klinische Studien und basiert auf den Arbeiten [Pre09] und [BE95],
wo Banditen-Modelle fiir klinische Studien vorgestellt werden. Wir
nehmen an, dass die Teilnehmer der Studie nacheinander behandelt
werden und die Auswirkung der Behandlung unmittelbar danach
messbar ist. Die Idee der oben genannten Arbeiten ist, dass die weitere
Zuordnung von Patienten zu Behandlungen auf dem bereits Gelernten
basiert und zwar so, dass

1. die bessere Behandlung gefunden wird, und

2. nur wenige Patienten, um einen Lerneffekt zu erzielen, die
schlechtere Behandlung bekommen.

Wir untersuchen die Anwendbarkeit der in den vorigen Kapiteln vorge-
stellten Losungsmethoden und fiihren einige numerische Simulationen
durch. Die prisentierten Techniken sind vor allem fiir seltene Krankhei-
ten interessant, da sich die Patienten oft in einer lebensbedrohlichen
Situation befinden und Kliniker nicht auf grofie klinische Studien
zuriickgreifen konnen. Weiters vergleichen wir die Ergebnisse mit einer
Randomisierungsstrategie.
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1 Introduction to Markov
Decision Problems

We take a look at the basic ingredients of Markov decision problems
and introduce some basic notion. Then we construct the underly-
ing stochastic model, which provides an appropriate framework for
comparing the value of two policies. Finally, to get familiar with the
matter, we give some examples of Markov decision problems: we ana-
lyse one period Markov decision problems, discuss a card game, and
we explain how a single product stochastic inventory control problem
can be modelled within the presented framework. This chapter is
based on the book [Put94].

1.1 Basic Notions

Consider a controller who has the ability to influence a stochastic
system by choosing actions at specified time points, called decision
epochs. With T" we denote the set of all decision epochs, here T is
assumed to be finite or countably infinite. In the first case the decision
problem is called a finite horizon problem, in the latter case its called
an infinite horizon problem. At every decision epoch ¢ € T the system
attends a state s € S, where S denotes the set of all possible states.
Here S is assumed to be a countable set. Then the controller performs
an action a € Ag where Ay is the set of all actions allowed when the
system is in state s. With A we abbreviate the set of all possible
actions, A = (J,cg As. By choosing an action the controller can
influence the behaviour of the stochastic system. Depending on the
current state s and the action a performed at time ¢ the controller
gains a reward 7¢(s,a) and the system attends a new state o, based

T. Ondra, Optimized Response-Adaptive Clinical Trials, BestMasters,
DOI 10.1007/978-3-658-08344-1 1, © Springer Fachmedien Wiesbaden 2015



2 1 Introduction to Markov Decision Problems

on a probability distribution p;(:|s,a) which is called the transition
probability function. So pi(ols,a) is the probability that the next
state equals o € S given the controller chooses action a and the state
at time ¢ equals s.

Often the reward does not only depend on the current state s and
the action a but also on the next state o. We do not know o in
advance since it is random, so we calculate the expected reward

ri(s,a) = Z pi(ols,a)ri(s,a,0),

ocesS

where 7(s,a,0) is the reward gained when the systems current state
is s, the controller chooses action a and o € S is the unknown next
state.

When we deal with a finite horizon problem we do not have to
choose an action at time point N, so the final reward rx(s) is only
dependent on the last state. Now we can define a Markov decision
process.

Definition 1.1 (Markov decision process). The quintuple
(T7 Sa As,pt(“57 a): Tt($7 G))

defines a Markov decision process. Here T is the set of decision epochs,
S is the set of all possible states, As is the set of actions allowed when
the system is in state s, p(+|s, a) are transition probabilities and r(s, a)
are the expected reward functions for allt € T.

Remark 1.2. We use the term “Markov” since the reward functions
and the transition probabilities only depend on the past through the
current state and the current action.

A decision rule specifies the choice of an action. In the easiest
case we deal with a deterministic Markovian decision rule, this is a
function d; : S — A which determines the action to be taken at time
point ¢t when the system is in state s.

Then there are deterministic history dependent decision rules. A
deterministic history dependent decision rule is a function depending
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not only on the current state but also on all states occurred, and on
all actions chosen so far. We define s1.; as the vector of all states until
decision epoch ¢t. With a1.;—1 we denote the vector of all actions taken
until decision epoch ¢t. Now we call hy := (s1.,a1.4—1) the history
until ¢. In the deterministic history dependent case the action a; is
specified by a function d; : Hy — As where H; is the set of all possible
histories and s is the state in decision epoch t.

Remark 1.3. Sometimes it is convenient to rearrange states and actions
in the history h; according to hy = (s1,a1,82,...,an-1,Sn). Then Hy
satisfies the recursion Hyy 1 = Hy X S x A. Especially in Chapter 2
we will use this notation.

In addition to the deterministic case we deal with randomized
decision rules. With P(As) we denote the set of all probability
measures on A;. A randomized Markovian decision rule selects an
element ¢(-) € P(As), so a randomized Markovian decision rule is an
operator d; : S — P(As) where s is the state of the system at decision
epoch t.

Then we have randomized history dependent decision rules. This is
an operator dy : Hy — P(As) where s is again the current state of the
system.

Remark 1.4. If we want to stress that we work with a randomized
Markovian decision we use qq,(s) with s € S, whereas we use gq, (1)
with h € H; to emphasize that we are working with a randomized
history dependent decision rule. Whenever this is not necessary we
simply write ¢;.

Randomized decision rules are a generalization of deterministic
decision rules since we can identify a deterministic decision rule with a
degenerate probability distribution, that is gg,(s) (a) =1foran a € Ay
in the Markovian and gg4,()(a) = 1 for an a € A in the history
dependent case.

We define the set of decision rules available at time t with DX,
where K stands for one of the discussed decision rules,

K € {DM,DH,RM, RH}.
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Here DM stands for deterministic Markovian, DH for deterministic
history dependent, RM for randomized Markovian and RH for ran-
domized history depended.

By choosing d; € DPM transition probabilities and reward func-
tions become functions only depending on the states, p;(:|s, di(s))
and 7¢(s,di(s)). If we choose d; € DM we calculate the transition
probabilities and the rewards by

pe(ols, di(s)) = ZPt(U‘Sa a)th(s)(a’)v
acA

re(s, di(s)) = 3 r(s.0)aa, 0 (@).

a€A

Hence we simply weight the transition probabilities and the rewards
with the selected probability measure gg, ()

Choosing a history dependent decision rule means that the transition
probabilities and the rewards depend on the history Hy. If d; € DP
we denote the rewards by (s, d;(h)) and the transition probabilities
by pe(-|s, d¢(R)). If d; € DY transition probabilities and rewards are
calculated by

pt(0|57dt(8)) = Zpt(a\s,a)th(h)(a), (11&)
acA

r¢(s,di(h)) = Z 7(s,a)qq,n) (). (1.1b)
a€A

A policy 7 is a sequence of decision rules, m = (dt)i\Sl in the finite
horizon case and m = (d;);2; in the infinite horizon case. The index
t only reaches from one to NV — 1 in the finite horizon case since by
definition we do not choose an action in the last decision epoch V.
A policy is a complete description for the controller what to do
in every single decision epoch t € T. With DX we denote the set of
all possible policies, D := | DtK in the infinite horizon case and
DK .= i\i El DJ in the finite horizon case . Here K stands again
for any kind of decision rule, K € {DM,DH,RM,RH}. We have
DPM c pPH <« DRH and DPM < DEM < DRE - So DRH contains



1.2 Probabilities and Induced Stochastic Processes 5

[ State s; ]—»[ Action a; and Probability pg(:|s:, at) ]—»[ State sg11 ]

l

[ Reward 74 (s, ar) ]

Figure 1.1: Overview of the components of a Markov decision process: Given
the current state s = s; the controller chooses an action a = ay
and receives an (expected) reward of r¢(s¢,a;). Then the state
changes according to p¢(-|s¢, at) to the succeeding state o = sy41.

the most general and DPM contains the most specific policies. In
Figure 1.1 we see an overview of the components of a Markov decision
process.

1.2 Probabilities and Induced Stochastic
Processes

Now we construct a stochastic model for Markov decision problems.
Lets first assume a finite horizon. Lets define Qy := Hy = SN x AN-1,
A typical w € Q now looks like

W = (51:N7 al:Nfl)v

that carries the information which states have been attained and which
actions have been played. Specifying a o-algebra A(2) is easy: we
simply take the power set of Q2. Let now P;(-) be the initial probability
distribution of the first state. In applications a first state is often
predetermined, in this case we can think of P;(-) as a degenerated
probability distribution.
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Now let 7 = (d;)Y;' € DRH be a randomized history depend-
ent policy. A Markov decision process and the policy! 7 define a
probability measure PF, on (€2, A(€2)) through

N-1
Pl (w) = Py (s1n,a1:n—1) = Pi(s1) H qe(ap)pe(sep1lse, a). (1.2)
=1

For any deterministic policy (1.2) simplifies to

0 otherwise.

{Pl(sl) TV pe(seanlse ar) if dy(sy) =ar VE=1,...,N—1

(1.3)

Remark 1.5. Indeed Pf in (1.2) defines a probability measure: Con-
sider two discrete probability measures (21, P1) and (€2, P»). Then
we can define a probability measure P on €; x Qs where P(w) =
P(wi,ws) := Pi(w1)Pa(wz). We have 0 < P(w) < 1since 0 < P(w) <
1 and 0 < Py(w) < 1. Furthermore we see

Z P(w) = Z Z Py (w1)Py(w2)

((.«}1 ,wz)GQl X Qo w1 E€Q1 w22
= 2 i) 3 Polwn)
wi1€ w2 €00
= 1.

Since pi(-|st, at), ¢:(+), and Py (-) are by definition probability measures
consecutively applying this fact proves the claim.

Now we define the random variables X; : Q@ — S, Y; : Q — A
and Z; : Q — H; by X¢(w) = s¢, Yi(w) := a4 and Zy(w) := hy =
(s1:t,a1:4—1). We have

P;\‘}(Xl = S) = Pl(s) (1.4&)

!Since randomized history dependent policies are the most general ones any policy
discussed previously clearly defines such a probability measure.
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PR (Y: = alZy = ht) = qq,(n,) (@) (1.4b)
PY(Xep1 = 0|Zy = he, Yy = ar) = pi(o]se, az) (1.4c)

For example the first equality can be verified as follows:
P (X =s)=P{(s1,a1,...,5Ny) € Q: 51 =5})
= Z P({(S’alv"'sz)})

ai,..,SN
N1
=Pi(s) > I at(ae)pe(sisalst, ar)

a1,...,sN t=1

= Pl(s).

The last equality follows because the product inside the sum defines
a probability measure on Q := {(a1,s2,...,8n) 1 a; € A,;s;, € S}. We
sum the probabilities over the entire space Q which has to be equal
to one and hence (1.4a) follows. Equations (1.4b) and (1.4c) follow
in a similar way.

Definition 1.6 (Markov chain). Let (2, P) be a discrete probability
space and Xy : 2 — S with t € N a family of random variables where
S is any countable set. We say that (Xy)ien is a Markov chain if

P(Xt+1 = S|Xt = St,Xt,1 = St—19--- ,Xl = 51)

1.5
= P(XtJr]_ = S‘Xt = St) ( )

for all t € N.

Now for any Markovian decision rule 7, deterministic or history
dependent, the family X, defines a Markov chain on (2, A, Pf). As we
see in (1.4c) the next state is only dependent on the current state and
the current action played. The current action itself in the Markovian
policy case only depends on the current state because equation (1.4b)
simplifies in that case to Py (Y: = a|Z; = hi) = qqg,(s,)(a). This
justifies the name Markov decision process. For history dependent
policies the action depends on the history as we see in (1.4b). This
destroys the Markov chain feature.
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Now let W be an arbitrary real valued random variable on the
probability space (£2,.A, P§;). The expected value of W is defined by

E"(W):= > PR)W(w) =Y wPiw: W(w) = w).
weN weR
Often we will have W = Zi\gl re(Xe, Y:) + rn(Xn), the sum of
the expected rewards at every decision epoch and the expected final
reward.

1.2.1 Conditional Probabilities and Conditional
Expectations

Let hy = (51,a1,...,5;) be a history up to time ¢t. We define the set
of all sample paths with the history h;, Q(h¢) := {(s1,a1,...,sn) €
Qs =381,...,8 = S}. Furthermore, we define the conditional
probability (conditioned on the history h;) by

PJ(s1,a1,--,5N) -

N it PT(Q(he)) #£ 0
P]@(atast+17---,3N|ht) — PT((he)) N( ( t))

0 otherwise.

Finally we define the expectation conditioned on the history h; of a
random variable W : Q@ — R through

Ep (W)= Y Pilas, s, sn|h)W(w).
wEQ(ht)

Now we have a suitable framework for the finite horizon case.

Lets consider the infinite horizon case. We define the sample space
by

Q= {w = (51,01, 82,02,53,...) : 55 € S, a; € A, }.
In such a situation there exists a standard construction for a suitable
o-algebra:
Definition 1.7. Let Q2 be a set and let M be any subset of the power
set of 2. We define
o(M):= (] A

A:MCA
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as the intersection of all o-algebras A over ) containing M.

It is easy to verify that o(M) is indeed a o-Algebra over Q2. Now
consider the event

N L

Fsl:N’alzN—l T

{weN w =s1,w2 =0a1,ws =81,...,WaN = Gp_1,WaN_1 = SN}
and define

M = U U U FS]VI:N»alzN—l'

N€EN sy yeSN a1 N—1€As) XX As

Now we use the o-algebra A := o(M). Again any history dependent
randomized policy 7 defines a probability measure P™ : A — Q
through

PT(FN ) := P{(s1,a1,...,8N),

S1:N01:N—1

where the right hand side is defined in (1.2).

1.3 Examples

We will start with analysing one period Markov decision problems to
get familiar with some basic concepts. Then we will have a look at
examples to see how to construct finite Markov decision problems.

One Period Markov Decision Problems

Let A and S be finite sets and T" = {1,2}. Here we have Q =
SxAx S and Q 5w = (s1,a1,s2). We assume that the system
is in a predetermined initial state s;. Then we have to choose an
action a; € A to receive an immediate reward of 71(s1,a1). Then the
system changes to state so depending on pi(-|s1,a1). In a one-period
Markov decision process this is already our final state and we receive
a final reward of ra(s2). Our goal is now to choose the best possible
action a;. Therefore, we have to find a suitable optimality criterion
which reflects our idea of a1 being a good choice. A Markov decision
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process together with such an optimality criterion is called a Markov
decision problem. We want to find an a7 which maximizes the sum of
the immediate reward 71 (s1,a2) and the expected final reward ra(s2).
Therefore any

a® € argmax 11(s1,a +Zp1 olsi,a)ra(o) (1.6)
aeAS1 prs

is optimal. If we want to find an optimal policy © € DPM we have
to do the maximization step in (1.6) for every possible starting state
s1 € S to find the optimal decision rule d; : S — A. Then, since
it is only a one-period Markov decision process, we already found
the optimal policy m = d;. We cannot illustrate history dependent
decision rules because the history until our first and only decision a;
is h; = s1, therefore there is nothing new.

Randomized policies 7 € DEM do not lead to a better reward. Here
we have to solve

e > ala) <r1<slja1> - Zp<a|sl,a1>r2<a>> ,

a1€A g€eS

where we maximize over all probability measures on Ag . Since
0 <¢(-) <1 we have

qe%l&?;)az ale) <7’1(317a1) ' Zp(0817a1)r2(0)> (1.7)

1€EA ceS

= max 7 (s1,a1) —l—Zp o|s1,a1)ra(o).
m €A geS

So we cannot do better with randomized strategies. Of course a* in
(1.6) does not need to be unique. Any randomized strategy which sets
a positive weight only to actions fulfilling (1.6) are optimal as well.

The (k,n) Card Game

Let us consider the following easy Black Jack like card game. Alto-
gether we have k cards, numbered from 1 to k. The cards are upside
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down and the player has to randomly choose one card. The number
x1 € {1,...,k} of the first card is written down. Then the chosen card
is laid back and the player has to choose a second card. The number
29 of the new card is added to the first card number, s = x1 + x2.
This procedure is iterated and the card values are summed up. The
goal is to play in such a way that the total sum s is smaller than and
as close as possible to a predefined number n > k. After the player
decides to stop he receives a reward

if s <
R s ifs<n
0 otherwise.

We want to solve the game using a suitable finite Markov decision
problem. We take N = n, because the smallest card number is one
and after n rounds the player definitely does not want to play on
because either he was lucky and s = n or, more likely, s > n. In the
first case he receives the maximal reward R = n in the second case he
gains nothing because then we have R = 0. Clearly we only have two
possible actions in every decision epoch, namely a, which stands for
“take another card” and a,, which stands for “take no further card”. We
define the current state s as the sum of the already chosen card values.
This leads to the set S of all possible states, S = {1,...,kn}. Taking
no card means that s’ = s since the sum does not change. Taking a
further card means that the state s’ will be between s + 1 and s + k.
We assume a predetermined initial state. This is the number of the
first card drawn. Then we choose the following transition probabilities

% foro=s+j, 1<35<k

0 otherwise,

pi(als, ap) = {

and
1 foro=s

0 otherwise.

pe(o|s,an) = {

Ezxample 1.8. A short example illustrates how we define the probabil-
ities. Take n = 4 and k = 2. Then we can write down the values of
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pi(ols, ap) in a matrix P € RISXISI since the action is fixed and the
probabilities are time independent,

o 0 o0 o o 0 0 0
05 0 0 O O O 0 O
05 05 0 O O O 0 O
p_ 0 0505 0 0 0 0 O
0 0 05 05 0 0 0 O
0o 0 O 05 05 0 0 O
0 0 O 0 05 05 0 O
o 0 O 0 0 05 05 0

Here we have Pj; := p(i|j, ap), so P;; is the probability that the next
state is 4 if the current state is j and action a, (take another card) is
chosen.

Ezample 1.9. In Figure 1.2 we see all possible paths of the (2,4) card
game with starting state s; = 1. We distinguish between grey and
black arcs. Grey arcs are only drawn because the underlying MDP
in principal does not a priori exclude these paths although a clever
player would not choose them. Note that if so = 3 then of course if
the action a,, is chosen the state s3 = 3 is not possible. Nevertheless,
we have an arc between a, and the state s3 = 3 for the case that the
state at time point two was equal to so = 2. Knowing the whole past
is not necessary for determining which states are possible at the next
time point. The only two things which are necessary to know is the
current action and the current state.

Now we have to specify the rewards. The player does not really
get a reward in the decision epochs t = 1,..., N — 1 so we choose
(S, ap) = 1¢(s, an) = 0. For the final rewards we choose ry(s) = s if
s < n and ry(s) = 0 otherwise.

The most aggressive strategy would be to try to reach the maximal
reward R = n even if s = n— 1 after some cards have been drawn. The
most conservative strategy would be to stop playing when s > n — k
for the first time. Somewhere in between there will be the strategy
which yields the best possible expected reward. Since the intermediate
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Figure 1.2: Overview of the (2,4) card game with starting state s; = 1.

rewards are all zero and we only have two possible actions we are
also able to solve the problem without using Markov decision problem
solving techniques. The fundamental question now is: Assume we are
in state s, should we take another card or should we stop playing?
To answer this question we define Fy as the expected reward if the
current sum equals s and we decide to take another card. The second
possibility would be not to choose a card and be satisfied with the
assured reward s. Therefore it seems natural to solve

Es > s.

Whenever this equation is fulfilled we better play on since we can
expect a better reward than the assured reward s. Assume that the
player already took cards such that s > n — k is fulfilled for the fist
time. We calculate

B =1 1<n(n+1)—s(s+1)>

k((s—i—l)—i—...—i—n):— 5
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n2+n—52—s

2k

So we have

n+n—s’—s

% >se 52 +s5(1+2k)+(—n?—n) <0.

Solving the equation s% + (1 + 2k)s + (—n? —n) = 0 yields

—(1+2k) £ /(1 + 2k)2 + 4(n% + n)
S1,2 = .
’ 2

Because n, k > 0 we always have two distinct solutions. Let s1 > so.
Solving the inequality above now means to find s € R which satisfy

(s <s1/As>s9).

Since we have sy < 0 and we consider sums of positive integers. So we
get our solution set to L = {s € R: 0 < s < s1 }. For these sums s
we have an expected advantage do good if we decide to take a further
card.

We now concretely use n = 20,k = 10 and assume that s = 12. Do
we want to play on? Let us take a look at the expected reward if we
decide to take another card, Fia = 75 (20 +19 +... 4 13) = 13.2, so
we should take another card since 13.2 > 12. The situation changes
if s =13. We have Ey3 = 15 (20+19+...414) = 11.9 < 13 and
therefore we’re doing better in deciding not to take a further card.
Indeed solving the equation Eys > s with n = 20,k = 10 yields the
solution set L = {s € R: 0 < s < 12.53}. This means if s < 12 we
should play on and if s > 13 we should stop playing.

A short simulation affirms the results above. Every possible strategy
is tested at 10000 simulated games. Under a possible strategy we
understand a number o were we stop taking further cards if the sum
s fulfils s > «. There are more policies than possible strategies, but
in the simulation we do not consider policies which stop playing and
suddenly start taking cards again. There is no reason why a policy
should not take the card right away. Looking at Figure 1.3 reveals that
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Figure 1.3: Simulated average rewards of the (10,20) card game if strategy «
is used.

the simulation suggests the strategy o = 13 since then the average
outcome is maximal.

In the second chapter we will describe an algorithm for general
finite horizon Markov decision problems. We will see that the solution
suggested by MDP will also be o = 13.

Stochastic Inventory Control

Consider a warehouse of capacity M which only stores one product
type. Each month we are confronted with the task whether we want
to stock additional units. If we decide to buy we also want to know
how much we should purchase. Buying additional ware also means
that some storage costs arise. Clearly we choose the state s to be
the units currently stored in the warehouse. This leads to the state
space S := {0,...,M}. We define the set of all possible actions
As :={0,... M — s}, where an action a € Ay tells us how many units
should be bought in addition. With D we denote the random demand
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until we again have the chance to reorder some units. This leads to
the system equation

s' = max{0, s +a — D}.

We do not allow backlogging. It is assumed that if the demand exceeds
our capacities the customer will buy as much as possible from our
warehouse. We further assume that costs and rewards do not vary
from decision epoch to decision epoch. Now we take a closer look at
some economic parameters. Let the cost of ordering w units be

K+c(u) ifu>0
b(u) := )
0 otherwise,

where c(u) is, e.g., a linear function in w. The cost of maintaining
u units is described by a non decreasing function h(u). Finally, we
receive a reward of f(j) if we have been able to sell j units, where we
assume that f(0) = 0. So altogether we have

ri(s',s,a) = f(s+a—5")—bla) — h(s+a).

Now we have to construct the expected rewards r(s,a). Defining
p;j := P(D = j) we have that if our inventory exceeds the demand j
we gain f(j) with a probability of p; at the end of the month. If the
demand exceeds the inventory and we currently have u units stored
we receive a reward of f(u) with probability ¢, := ).~ pi. This leads
to the expected gain of -

F(u) = quf(u +Zp]

Now we are able to define the expected rewards as
ri(s,a) == F(s+a) —b(a) — h(s + a)

fort =1,...,N —1 and rn(s) = g(s) for some function g(-) which
describes the value of the rest of the inventory in the last decision
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epoch. For example we could choose g(s) = 0 Vs € S if for some
reason after the last decision epoch it is impossible to sell further
products. This might be the case when we exactly know that from
some time point on there will be no further demand. Now we have to
define the transition probabilities,

0 M>0c>s4+a
pe(o)s,a) =< psiao M>s+a>0c>0
Qs+a M > s—+aand o =0.

A short explanation follows. Note that p;(c|s,a) describes the prob-
ability that we have o units stored at time point ¢ + 1 if we currently
have s units stored and purchase a more units. Now we have to
distinguish some cases. If M > o > s+ a then p(o|s,a) = 0 since it
is not possible that the stock in the next period is greater than the
sum of the currently stored units and the additionally bought units.
We have pi(ols,a) = pstq—o if M > s+ a > o > 0 since in the next
epoch we want to have ¢ units left which means that we have to sell
s+ a — o units. The probability therefore equals psyq—o. Finally, we
have the case that the demand exceeds the inventory. The probability
that at least s + a units are sold equals gstq.

What about the time horizon? For example we could specify that
we reorder at the beginning of every month and plan over a time
horizon of ten months. This would give N = 10.

We defined the set of possible actions, the transition probabilities,
the rewards and the time horizon and hence have a complete Markov
decision problem formulation for a stochastic inventory control prob-
lem. At the end of Chapter 2 we will have a look at the optimal policy,
which describes the optimal reordering strategy.



2 Finite Horizon Markov Decision
Problems

In this chapter we solve finite horizon Markov decision problems. We
are describing a policy evaluation algorithm and the Bellman equations,
which are necessary and sufficient optimality conditions for Markov
decision problems. Then we are constructing optimal policies out of the
solution of the Bellman equations. We will see that the class of Markov
deterministic policies —that are easier to handle—contain, under
assumptions which are often satisfied in practise, optimal policies.
Finally, we describe how optimal policies can be calculated, based on
a backward induction algorithm. This chapter is based on [Put94],
[Whi93], and [Der70].

2.1 Optimal Policies and the Bellman Equations

In order to be able to speak about optimal policies we need a method
for comparing two policies. In the finite horizon case we can simply
choose the so called expected reward criterion. Let m be a history
dependent randomized policy and define

N-1
vn(s) = EY <Z (X, Yy) +7“N(XN)> ,

t=1

where the right hand side is the conditional expectation of the sum
of the expected rewards r(Xy,Y;) and the final reward rn(Xy) con-
ditioned on X; = s. Since the last reward ry(Xy) only depends
on the last state and not on an action anymore, we have to write it
down separately. Recall that we defined X; := s; and Y; := a;. To

T. Ondra, Optimized Response-Adaptive Clinical Trials, BestMasters,
DOI 10.1007/978-3-658-08344-1 2, © Springer Fachmedien Wiesbaden 2015
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be able to speak about expectations we need a suitable sample space
(Q, A, PY), which we defined for discrete A and S in Section 1.2. If
we have m € DPM the action chosen at decision epoch ¢ is determined
by di(s¢), so in this case we have

N-1

vy (s) = EY (Z 7 (X, di(Xt)) + T“N(XN)> :
t=1

Definition 2.1 (Optimal policies and e—optimal policies). A policy

7 is called optimal if for every starting state s € S and all m € DIH

v (5) = o (s).

Fiz e > 0. We say that the policy % is e-optimal if for every starting
state s € S and all m € DRH

vﬁ(s) +e > oy (s).

Definition 2.2 (Value of a Markov decision problem). We define the
value of a Markov decision problem as
vn(s) := sup vx(s).
reDRH
If S and A are finite and the rewards are bounded then the su-
premum exists and can be replaced by the maximum of the right hand
side of the equation above. Clearly, in this case we have v} (s) = v% (s),
so the expected total reward equals the value of a Markov decision
problem if an optimal policy 7* is used. If we use a e—optimal policy
we have U;{,;(s) +e > vy(s).

2.1.1 Policy Evaluation

Now we want to find a method which allows us to calculate the
expected total reward v} (s) for a given policy 7. We want to do this
in a backward inductive way. We define functions uj : H; — R,

N-1
uf (he) := EF, <7~N(XN) +> rn(Xn,Yn)> , (2.1)

n=t
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the expected total reward from decision epoch ¢ on given the history
hi up to time t. Furthermore we define v’ (hy) = ry(sy) where
hy = (hn-1,an—-1,5N). Note that if hy = s and ¢t = 1 we have

N—-1
uT(s) = ET (TN(XN) +)° rn(Xn,Yn)> = o7 (s). (2.2)

n=1

So if we are able to calculate uf(s) we know the value of the Markov
decision problem if an optimal policy is used. Algorithm 1 calculates
the functions uf in a backward inductive way.

Algorithm 1 Finite Horizon Policy Evaluation Algorithm for 7w €
DRH

. Set uf (hy) = rn(sy) for each hy = (hy—1,an—1,5n) € Hy.
st N

: fort#1 do

t+—t—1

Compute

uf (he) =
Z ddy (ht) (a) <T’t(8t, a) + Z pt(alst, a)u?+l((ht7 a, U))
aeAst O'GS

for each h; € Hy.
6: end for

Of course we need to show that the uf](ht) constructed by the
algorithm are the same as these defined in (2.1).

Theorem 2.3. Let m be a randomized history dependent policy and
uf (ht) be constructed by Algorithm 1. Then these functions are equal
to the right hand side of (2.1) for allt < N, particularly uf(s) is the
value of the underlying Markov decision problem if an optimal policy
15 used.
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Proof. We prove the claim with backward induction. Within this
proof uj always denotes the functions generated by Algorithm 1.
We see that v} (hn) = ry(sn) coincides with the definition in (2.1).

Assume that uf (ht) = Ef, (rN(XN) + 30 (X, Yk)) is true for

allt=n+1,..., N. Now we calculate for t =n
Up (hn) = Z Ad,, (hn) (@)Tn (50, @)
a€As,
+ Z Z qdn(hn)pn(a|sn’ a)ungl(hnv a, U)
oc€S acAs,

(1:1) Tn(sny dn(hn))

+ Z Pn(05n, dn(hn))ug 1 (hns dn(hn), o)
oeS

= Tn(sm dn(hn)) + E;Lrn (ug—l—l(hn, dn(hn)a Xn+1))
= Tn(8n, dn(hn))

N-1
+Ef <E;{n+l ( > (X, Vi) +7"N(XN)>>

k=n+1

N—-1
= 13 (Sns dn(hn)) + By, ( > (X, Vi) +TN(XN)>
k=n-+1

N—-1
= E;,Lrn (Tn(Xn,Yn) + Z Tk(Xk,Yk) +TN(XN)>
k=n+1

N—-1
= Ej, (Z 7k (Xp, Vi) + 7“N(XN)> :
k=n

which finishes the main part of the proof. As we have seen in (2.2)
we also have u] (s) = v},(s), so if we have an optimal policy we know
the value of the underlying Markov decision problem. O

We want to have a look at the complexity of the policy evalu-
ation algorithm. The crucial point is that in every decision epoch



2.1 Optimal Policies and the Bellman Equations 23

we have to evaluate u] for every possible history h;. Let there be
« states and [ actions and N decision epochs. Then there are al-
together aN3N~1 possible histories since histories are of the form
hy = (s1,a1,52,a2,...,aNx_1,5x). Up to time ¢ there are o/~ pos
sible histories. Now fix a policy 7, a decision epoch t and a particular
history h; up to time ¢. To calculate uf (hy) Algorithm 1 needs a5 mul-
tiplications, see line five. To construct u] we need to evaluate uf (h)
for every hy € Hy, so afalfl=1 = o1t multiplications are needed.
Now we iterate over all decision epochs, so all together Zt 1 Lottt Bt
multiplications are needed to evaluate a single policy. Additionally
we have to store oY 3V ~! numbers in the beginning of the algorithm
in order to construct u.

So this is quite a lot of work to do. Luckily we will see that we only
have to give attention to deterministic Markovian decision rules. In
the Markovian case uj are actually functions from S to R since the
actions chosen only depend on the current state s; and not on the
entire past h;. Under this assumption we have

N-1
u?(ht) = Eszrt (Z rn(Xna Yn) + 7’N(*XN)>

n=t

n=t

N-1
= E], (Z Tn(Xn, Yn) +7”N(XN)> .

Consequently we do not have to look at each history h; like we did in
Algorithm 1. We rewrite the policy evaluation algorithm for the case
7 € DPM_ Now we have a look at line five of Algorithm 2. We need «
multiplications for a single fixed s;, so constructing uJ needs only a?
multiplications We again iterate over the entire time horizon which
leads to Zt 1 a? = (N — 1)a? multiplications altogether. Addition-
ally we only have to store a numbers to construct u%;,. Theorem 2.3
also includes the correctness of Algorithm 2 if deterministic Markovian
policies are interpreted as degenerated probability measures.
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Algorithm 2 Finite Horizon Policy Evaluation Algorithm for 7w €
DDM

: for t = N set uf(sy) =rn(sy) Vsn €S,

ct+— N

: fort #1 do

t—t—1

uf (s¢) = ri(se,d(s¢)) + D, cqPe(0lse, di(s¢))ufy (o) for all sy €
S

6: end for

2.1.2 The Bellman Equations

Now we can take a look at the Bellman equations. The solution of
the equations will help us to find optimal policies.
We define the functions

uj(he) = sup uj (hy) (2.3)

TeDRHA

which are the best possible expected total rewards from decision epoch
t onwards if the history until ¢ equals h; and the supremum is attained.
This is, e.g., the case if we deal with finite S and A.

The Bellman equations, often also called optimality equations, are
given by

w(hy) = sup (rt(St,a)+Zpt(UISt,aWtH(ht’“’U)) (2.4a)

a€As, oces
for1<t< N —1, and
uN(hN) = TN(SN>. (2.4b)

The solution of the Bellman equations is a sequence of functions
u; : Hy — R fulfilling (2.4a) and (2.4b). We will prove that the
solution of the Bellman equations fulfil (2.3), so if we solve the Bellman
equations we obtain a finite sequence u; : H; — R of functions that
tell us what the best possible expected reward from decision epoch ¢
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onwards is if the history up to time ¢ equals h;. Before we do this we
need a small lemma.

Lemma 2.4. Let f be a real-valued function on a discrete set ) and
let p(+) be a probability distribution on 2. Then we have

sup f(w) > Y p(w)f(w).

we e

Proof. Set w* := sup,,cq f(w). We easily calculate

o= 3 pw) = Y pw)t 2 3 plw) flw).
we weN weN

O]

Now we can state the main property of the solution of the Bellman
equations.

Theorem 2.5. Suppose the family us,t = 1,..., N is a solution of
the Bellman equations. Then we have

ut(ht) = uy (he)

forallhy € Hy andt =1,...,N. Moreover we have ui(s) = vy (s) for
all s € S, i.e., uy equals the value of the underlying Markov decision
problem.

Proof. Within this proof we denote the solution' of the Bellman
equations (assuming it exists) by u;,t = 1,...,N. We are starting
with proving by backward induction that

Ut(ht) Z U:(ht) Vht S Ht, t= 1, . .,N. (25)

Note that we have for an arbitrary policy = by definition uf,(hy) =
Eh, (rnv(Xn)) = rn(sn) since by conditioning on an arbitrary history

'Tf S and A are finite we only have to assume that r¢(-,-) and 7x(-) are bounded,
then a unique solution always exists.
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hy € Hpy the random variable Xy is known. By (2.4b) we have
un(hn) = rn(sny) = uly(hn) for all hy € Hy and an arbitrary 7 €
DR So consequently we have uy(hy) = uwy (hn) for all hy € Hy
and of course therefore uy(hy) > uy(hy) for all hy € Hy. Now
assume that

ut(ht)Zuf;(ht) Vhy € Hy, t=n+1,...,N,

and let 7 := (Jl, e d;v) be an arbitrary randomized history depend-
ent policy. For t = n we have

(2.4)
Un(hn) = sup | 7n(sn,a) + Y Pu(0]8n, @)tni1(hn, a,0)
a€Asp, oceS
i.h.
> sup | Sm + an ’3717 n+1<hma70)
a€Asy, oeSs
(2.3)
2 SUP 7" snv + an U|Sna n+1(hn7a70)
a€As, cEeS
2.4
> D 4, (1) (@)
acA
< Sna + an 0'|5n7 n+1(hnaa70)>
ces
(23) %

Because 7 was arbitrary we showed wui(h:) > uf(h:) for all hy €
H;, t=1,...,N. So we have proved the claim (2.5). Now we want
to show that, for an arbitrary € > 0, there exists a policy 7 for which
we have

U?(ht)ﬁ-(N—t)&“ Zut(ht) Vhy e Hy, t=1,...,N. (26)
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To do so we choose any policy? ™ = (dy,...,dy_1) which fulfills for
allt=1,...,N

Tt(St, dt(ht)) + Zpt(O"St, dt(ht))ut+1(st, dt<ht), O') + € Z ut(ht).
ocesS

We again proof the claim (2.6) by backward induction. We have
u}(hn) = un(hn) for an arbitrary policy 7, so (2.6) clearly holds for
t = N. Now assume that (2.6) is valid for all t =n 4+ 1,..., N. Then
we have

Up(hn) = Tn(sn, dn(hn)) + an(a\sn, dn(hn))up i1 (Sn, dn(hn), 0)
oceS

> rn(sna dn(hn))

+ an(0|5na dn(hn)) (Uns1(hn, dn(hn), 0) = (N —n — 1))
ogeS

= —(N = n)e + rn(sn, dn(hn))

+ ) pu(0sn, dn(hn) ) tns1 (hin, d(hn, 0)) + &
ogeSs

> up(hy) — (N — n)e.

This proves the claim (2.6). By definition we have uj(-) > uJ(-) for
all possible policies. Therefore we have

(2.6) (2.5)
ug(he) + (N —t)e > uf () + (N —t)e > w(he) = up(he).

Now let us set € := (N — t)e. Then we have
ug (he) + € 2 we(he) = ui(he),

which means uf(h:) = u¢(ht) since € was arbitrary. Moreover because
of vy (s) = uj(s) we also have ui(s) = vi(s). O

2Such a policy clearly exists. Note that without adding & we would have equality
by definition if the image of h; under d; equals the best possible action.
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Now we show how to use the solution of the Bellman equations to
construct optimal policies. At first we take a look at the case when
the Bellman equations attain the suprema.

Theorem 2.6. Let uj,t =1,...,N be a finite sequence of functions
which solve the Bellman equations (2.4a) and (2.4b) and assume that
the policy DPH > n* .= (dj,...,d%_,) satisfies

dy(ht) € argrjlax ri(se, a) + Zpt(0'|8t, a)uyyq(he,a,0). (2.7)
a&Asy oes

Then we have

uf*(ht) = Uz{(ht), h: € H;.
Moreover 7* is an optimal policy since we have v} (s) = vi(s).

Remark 2.7 (Randomized vs. deterministic policies). Note that The-
orem 2.6 is already stated for deterministic history dependent policies.
This is not a restriction if seen in the following way: Let us rewrite
(2.7) for randomized history dependent policies,

By (he) (1) € argmax  U(qq,(n,))
ddy (hy) ()P (Asy)

with

U(qa,) = Z qq,(a) (rt(st,a) + Zpt(a|st,a)ufﬂ(ht,a, a)) .

a€As, oces

We maximize over all possible probability distributions, which are by
definition randomized policies, on A;,. Now let us assume that we
have found an optimal probability distribution qflt(ht). Then we can
guarantee the existence of a deterministic history dependent policy.
To construct it set fy,,(a) := ri(s¢, a) + D, cqPe(0|se, a)uy (b, a,0)
and p(a) := qg,(n,)(@) and use Lemma 2.4, which basically tells us that
we are also doing well with a degenerated probability distribution
@3, (n,)- To construct gy , | fix any a” € argmax,ec 4, fn,(a) and define

1 ifa=2a"

0 otherwise.

g, (ny) (@) = {
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Using ¢* is as good as using ¢* according to Lemma 2.4. Note that
q¢* is actually a deterministic history dependent policy as it is a
degenerate probability measure on A;,. Now we have constructed a
deterministic history dependent policy which is as good as the original
randomized history dependent policy. So we can restrict our attention

to m € DPH,
Now we are ready to prove the theorem above.
Proof. We again prove the claim by backward induction. Clearly we

have u7; (hn) = u(hy) since this by definition holds true for every
policy. Assume that

uj(he) = uf (hy) Vhy € Hy

forallt =n+1,...,N. Before we perform the induction step we
need an auxiliary consideration. Condition (2.7) can equivalently be
expressed by choosing the policy 7* = (dj,...,d}_;) in such a way
that df(h;) solves the optimization problem

max re(St,a) + Zpt(a\st, a)uyyq(he,a,0).
ot oeS

Note that we have
uj (ht) = max r(s¢,a) + Zpt(a|st,a)uf+l(ht, a,o)
a€ s, o€eS
by definition (2.4a) as well as
ul (he) = re(se, df (he)) + > pe(olse, df (he))ufy (he, df (he), o)
oeS

by Theorem 2.3. So using the the induction hypothesis uj(h;) =
ul (hy) yields

rise, dy (he)) + > pi(olse, di (he)yugy (he, dj (i), o)

o€es

= max re(se, a) + Zpt(a|st,a)uf+l(ht, a,o)
ot oeS

(2.8)
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forallt=n+1,...,N — 1. Now for h,, = (hp—1,d},_1(hn-1), sn) We
calculate

uy (hyp) = max ry(sp,a) + an olsn, a)uy, 1 (hn,a,0)

a€As, oS
g
= rn(n, dy, )+ an o|sp, dy( ))ugll(hmd:;(hn)aa)
oeS

=u” (hy).

n

Indeed the constructed policy is optimal since v (s) = uf (s) =
ui(s) = vi(s) for all possible starting states s € S. O

Theorem 2.6 asserts that there exists a deterministic history depend-
ent policy which is optimal since it gives instruction how to construct
it whenever, as assumed in the theorem, the supremum is attained,
meaning there exists an a* € Ay, for which we have

Sta + Zpt U|5t, ut+1(ht7a U)
oes

= sup 7¢(s¢,a) + Zpt(a|st,a)u2‘+1(ht,a,a). (2.9)
a€As, oeS

Remark 2.8. Criteria which establish (2.9):
1. If A is finite, then (2.9) is fulfilled.

2. If A, is compact for every s € S, r(s,a) and p(ols, a) are continu-
ous in a for every fixed s € S and additionally r(s,a) and the final
reward ry(s) are bounded functions then (2.9) is fulfilled as well.

If however (2.9) is not fulfilled then we only have e—optimal policies.

Theorem 2.9. Fiz € > 0 and let the family uf, t = 1,...,N
be a solution of the Bellman equations. Furthermore choose m =
(di,...,dy_1) € DPH such that

re(se, di(he)) + Y pe(olse, de(he) Juiy (he, di(he), o) +
oeS

> sup Tt(St, CL) + Zpt(0’5t7 a)u;‘,k+1(ht7 a, U)
aEAst ocEesS

€
N -1
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fort=1,2,...,N — 1. Then the following statements are true:
1. For everyt=1,...,N —1

uf (he) + (N = #) 5=

1 Zuf(ht), h: € Hy.

2. The policy 7 is e-optimal, vy (s) +¢& > vi(s) for all s € S.

Proof. 1. We have u7;(hy,) = rn(sy) = wi(sn) for all
hn = (hn—1,an-1,8N),

hence the inequality follows for ¢ = N. Now assume that the
statement is correct for t =n+1,..., N. Then we have

U (hn) = r0(8n, dn(hn))
+ an(cr\sn, dn(hn))ug-f—l(sm dn(hn),0)

oes
> Tn(sna dn(hn))

+ Z pn(U‘Sn, dn(hn))u:—i-l (87%7 dn(h’n)v U)
oeSs

e(N—-t—-1)
N -1

> sup rn(sn,a) + > pololse, a)usy (hi,a,0)
a€As, g€eS

€
N -1
= Uy (hn) = (N = 1)

~(N—t)

£
N-1

2. Choose t = 1, then it follows from the first part that
v (s) +e =uj(s) + e > ui(s) = vy(s)

for all s € S.
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We want to show now that it is actually enough to look at determ-

inistic Markovian policies.

Theorem 2.10. Let uf : Hy — R be a finite sequence of functions
solving the Bellman equations (2.4a) and (2.4b). Then we have

1.

For eacht =1,...,N the function uj(hy) depends on the history
hy only through the current state s;.

If condition (2.9) holds, i.e., the supremum is attained, there exists
an optimal policy which is deterministic and Markovian.

Fix € > 0, then there exists an e—optimal deterministic Markovian
policy.

Proof. 1. We again use backward induction. We have u}, (hn) =

uy(hn-1,an—1,5N) = rn(sn) for all possible histories, so u} (hn) =
uwi (sn) and therefore u}, only depends on the past through the cur-

rent state. Now assume that uj(hy) = uj(s¢) forallt =n+1,..., N.
We have
ur (hyp) = sup r(sp,a)+ an(a|sn, a)uy, 1 (hn,a,o)
a€As, ocesS
= sup ri(sp,a) + an(a|sn, a)uy (o). (2.10)
a€As, s

Now note that the term (2.10) depends on the history only through
Sn, which means u (h,) = u}(s,) for all possible histories. This
finishes the proof of the first part.

. Now we know by (2.6) that choosing

d; (ht) € argmax 7¢(s¢, a) + Zpt(cﬂst, a)uyq(he, a,0)
CLEAst O'GS

yields an optimal policy. We are rewriting this condition using our

result (i), i.e., we replace uy, (h¢, a,0) by uj (o),

dy (hy) € argmax 1(s;,a) + Zpt(a|st, a)uy, (o).
aGAst cEeS
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Algorithm 3 Backward induction algorithm for finite Markov de-
cision problems

1: for t = N set uy(sy) =rn(sy) Vsy € S.
2.t N

3: while t # 1 do

4: t+—t—1

5.  for s; € S do

6 Compute

uy (s¢) = IQ%X r(st,a) + Zpt(0'|3ta a)uiy1(o)

a st

ces
7 Set
AL, = argmax 74(sg,a) + Zpt(a|st, a)up (o)
aGAst O'GS
8 end for

9: end while

As we see dj depends on the history only through the current state
s¢ so we actually have dj (h¢) = dj(s¢). The policy 7* = (d}, ..., d}y)
constructed by (2.6) is actually a deterministic Markovian policy.

3. Use Theorem 2.9, the rest is analogous to (ii).
O

2.2 Backward Induction Algorithm

In this section we put everything together what we know about finite
Markov decision problems and construct an algorithm which calculates
an optimal deterministic Markovian policy. We again assume that
the suprema in (2.9) are attained. We summarize our results in the
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following Theorem.

Theorem 2.11. Let uj and Aj, ;, be constructed using Algorithm 3.
Then the following statements are true:

1. Fort=1,...,N and hy = (h4—1,a¢—1, S¢) we have

uy(s¢) = sup uy(hy).
reDRH

2. Let di(s;) € A5, for all sy, € S andt = 1,...,N —1. Then
™ = (dj,...,dN_y) is an optimal deterministic Markovian policy

and satisfies v (s) = sup,cpru V5 (s) for all s € S.

Proof. We just need to summarize what we already know from previ-
ous theorems.

1. Looking at the algorithm reveals that u; constructed by Algorithm 3
solves the Bellman equations. We showed in (2.5) that a property of
the solution of the Bellman equations is uy(s¢) = sup,cpra uf (ht)
which proves the first part.

2. Note that an a € Aj, , fulfils the property of Theorem 2.6. Therefore
7* is an optimal deterministic Markovian policy. Moreover we have

by definition of the quantities, as already seen,

v (s) =uf (s) =ui(s) = sup uf(s)= sup vy(s).
71.e'DRH 7rEDRH

O]

Now we should make some complexity considerations. In Algorithm
3 we have two nested loops. The outer one iterates over the decision
epochs N — 1,...,1 and the inner one iterates over all s € S. In
every step we need to perform an optimization. This yields an effort
of O((N — 1)|S|M). Here M is the effort needed for solving the
maximization step in the algorithm. If A is finite then we have a
trivial worst case estimate for the optimization: We simply try out
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every a € A and store the a for which the objective function is
maximal. Finding the maximum of a set of a values is linear and
function evaluation is O(S), so M = O(|S||A|) and the complexity of
Algorithm 3 is O((N — 1)|S]?|A]).

2.3 Examples

We now apply the solution techniques to the examples introduced in
Section 1.3.

The (k,n) Card Game

In Section 1.3 we described the (k,n) card game which we now want to
solve using the backward induction algorithm for the case k = 10 and
n = 20. We take T := n, that leads to 19 decision epochs. A := {pP,N}
where P stands for play and take another card and N stand for stop
playing. We define the set of all states as S := {1,...,kn}. Rewards
and transition probabilities are defined as in Section 1.3. The optimal
policy is stored in a matrix IT € {p, N}*"*T=1 If we want to know
what to do if we are in state ¢ at time point j we have to look at 1I;;.
The vector (2.11) is a part (first 20 entries) of a column of the policy
as constructed by the backward induction algorithm. All the columns
of IT are equal: we have IIL. ;, = IL ;, for all ji, jo € {1,...,19} since
transition probabilities are stationary and intermediate rewards are
all equal to zero. It is only important that we stop if s > 13. Time
information does not play a role here.

(PPPPPPPPPPPPNNNNNNNN). (2.11)

We just need the first 20 entries because if we are in state s > 20
then action P as well as action N only leads to a reward of R = 0, so
they are equally bad. We see that we have twelve consecutive p. This
means that if the sum fulfils s < 12 we should take another card. If
s > 13 we should stop playing.
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0.3

4 (10,24,80) Beta binomial distribution +
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Figure 2.1: Beta binomial distribution

Stochastic Inventory Control

We set up our model with S ={0,...,10}, A, ={0,...,10 — s} and
T = 10. Let the demand D; be (10,24, 80) beta binomial distributed
for all t € {1,...,9}. This distribution seems a plausible choice for the
demand D, as can be seen in Figure 2.1. Based on the beta binomial
distribution we can set up the transition probabilities as described in
Section 1.3. We further choose f(j) = 504, h(s+a) = s+ a and

20+35a ifa>0
bla) = .
0 otherwise.

With this information we can set up our rewards r(s,a) = F(s+a) —
b(a) — h(s + a) where F (s + a) is the expected revenue if s+ a units
are stored in the warehouse, b(a) are the costs for ordering a units
and h(s + a) is the cost for maintaining s + a units in the warehouse.
We define the terminal rewards r19(s) := 0 for all s € S. The optimal
policy is then given by (2.12) where II;; contains the information what
action to choose at time point j when currently ¢ units are stored in
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(2.12)

10 10 10 10 8 7 5 3 O

9 76 4 0 0
8 6 5 0 0 0
0 00 O0O00O0
0 00 0O0O
0 00 O0O00O0
0 00 O0O0O0
0 00000
0 00 00O
0 00 0O0O0
0 00 00O

9
0
0
0
0
0
0
0
0
0

the warehouse. So 1I;; tells us how many additional units have to be

bought to act optimal.



3 Infinite Horizon Markov
Decision Problems

We consider infinite horizon Markov decision problems. We state
the Bellman equations which characterize optimal policies. They are
an important tool for proving the optimality of so called stationary
policies. Then we take a look at two important algorithms which
solve infinite Markov decision problems: Value Iteration and Policy
Iteration. In this chapter we follow the book of [Put94]. Furthermore
we use the books [Whi93] and [BR11].

In this chapter we take a look at the infinite horizon case. We
introduce a discount factor A € [0,1) and define the expected total
discounted reward of policy 7 as

N
05 (s) ;== lim ET (Z )\tlr(Xt,Yt)>. (3.1)

N—o0
t=1

If supgegaealr(s,a)] < ¢ € R holds, the limit above exists, so we
want to assume bounded rewards. In contrast to the finite horizon
case we additionally assume time independent rewards and transition
probabilities. Discounting arises naturally in many applications since
a cash flow received later in time is often less worth than money
which is earned right away. In this chapter it is always assumed that
A € (0, 1], this will play a key role in analysing infinite horizon Markov
decision problems.

Definition 3.1. The quintuple

M = (S, A,p(s'|s,a),7(s, a), \)

T. Ondra, Optimized Response-Adaptive Clinical Trials, BestMasters,
DOI 10.1007/978-3-658-08344-1 3, © Springer Fachmedien Wiesbaden 2015
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together with an optimality criterion is called an infinite horizon
Markov decision problem. Here we use the expected total discounted
reward criterion.

We again call a policy m* optimal if
0™ (5) > 0" (s)

for all starting states s € S and every policy 7 € DFH. We define
the value of an MDP as v*(s) = sup,cprr v™(s). An optimal policy
exists whenever v™ (s) = v*(s) for all s € S.

Like in the finite horizon case we can actually restrict our attention
to a smaller class of policies.

Theorem 3.2. For any © € DRH there exists for each s € S a policy
7€ DEM for which v (s) = vi(s).

Proof. We proof the claim by showing that for every 7 € D*H and a
given s € S there exists a policy @ € DM for which we have

P"(X;=0,Yy=alX;=5) =P (X;=0,Y;=a|X1 =5). (3.2)
Observe furthermore that then

vy (s) = Z Z Z MLy (0,a0)P™(Xy = 0,Y; = a| X = s)

t=1oceSacA,

= Z Z Z )\tflT(Uv a)Pﬁ’(Xt =0,Y; = a|X1 — S)

t=1 UES CLEAO‘

= v3(s),

what would prove the claim. To establish (3.2) fix s € S and define
the randomized Markovian policy 7 = (di,da, ...) by

Uiy (@) = P7(¥i = | X, = 0, X1 = 5).
This leads to

PT(Y; = a|X; = 0) = PT(Y; = a|X; = 0, X1 = 5)
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=P"(Y; =a|X; =0,X; =5s). (3.3)
Now for t =1 (3.2) is satisfied since for s = o
PT(X1 =5Y1=a|X; =5) = PT(Y1 = a|X; = 5)
D) pry; = a|X) = 5)
= P"(X1 =5,Y1 =a|X; = s).
Now assume that (3.2) is true for ¢t = 1,...,n — 1 then
PW(Xn = U’Xl = 8)
=> > P (Xp1=kY, 1 =alX; = s)p(ol|k,a)
keS acAy
=> > PN (Xp1=kY, 1=alX; = s)p(ol|k,a)
keS acAy
= P (X, = olr; = s).
Finally, we calculate
P™(X,, = 0,Y, = a| X1 = s)
= P™(Y, = a|X, =0)P"(X,, = 0|X; = s)
=P"(Y, =a|lX, =0,X1 =5)P" (X, =0|X; =5)
=P"(X, =0,Y,=a|X1 =5s).
O

Now we are introducing some vector based notation, which we
use in the rest of the chapter. Let V be the set of bounded real
valued functions on S equipped with the supremum norm |[v||ec =
supseg |v(s)]. Let A be a linear operator on V. The norm | - ||oo

induces an operator norm [|Aflec = supy,| <1 [[40||c-

For finite S elements in V' are vectors and linear operators are

matrices. In that case the induced matrix norm is given by

1Al = Sugz | Asjl-

5€5 jeg
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We want to abbreviate our notation a little in order to derive a

more compact form of (3.1), therefore we define for any decision rule
d € DPM

ra(s) == r(s,d(s)) and pa(j|s) := p(jls, d(s))

and for d € DEM

= qigs)(a)r(s,a) and pa(jls) = > qaes)(a)p(ils, a).

a€As a€As

We call r4 the reward vector (sequence if S is countable infinite) and
P, the transition probability matrix (operator acting on sequences)
corresponding to the decision rule d where

(Pa)sj := pa(jls)- (3.4)

Lemma 3.3. Let v € V' be arbitrary, then it follows that rq + APyv €
V.

Proof. Because we have assumed that the rewards are bounded we
have ||r4|| < ¢ for an arbitrary decision rule d. Furthermore we have
1Pl < IPalllell = o]l because [|Pall = supj,_ <t | Pav]l = 1. So
altogether we have

l7a + APgo|| < [rall + X[ Pavll < [lrall + [Jo]] = ¢.
O

Now fix a policy m = (di,ds,...) € DM, We calculate the t-step
transition probability under the policy 7,

Pa(jls) = P™(Xpp1 = j|X1 = 8) = (Pa, -+ Pay) 5 »

where Py, is defined in (3.4). Now we again build a matrix using the
t-step transition probabilities,

(Pr)sj = py(ils). (3.5)
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Using this notation we have

N—oo
t=1

N
vf(s) = lim ET (Z /\t_lr(Xt,Yt)>

N
= lim Y ANET (r(Xy, V7))

N—oo
t=1

N
= lim Z:/\t*1 (P,tfl)sz Td,

N—o0

o0
= Z Atil (P;il)s_ Tdy
=1 '

where we set P? := idy to include the immediate first reward which
only depends on the initial state s; and the first action a;. This leads
to a more compact representation of the expected discounted reward
which is our first formula for policy evaluation.

Lemma 3.4. Let m be an arbitrary Markovian randomized (which
includes the deterministic case) policy. Then the expected total dis-
counted reward fulfils

oo
vy = Z NPty
t=1
Proof. The calculation above proves the claim. O
3.1 Bellman Equations and Existence of Optimal

Policies

We will start with an alternative formula for evaluating so called
stationary policies. A stationary policy uses the same decision rule in
every decision epoch, A = (d,d,...). We will see that these policies
play an important role in infinite horizon models.
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First of all we need some results from functional analysis. An
operator A : V — V is called bounded if ||Av|| < ¢||v]| for all v € V'
and a fixed ¢ € R. We define the spectral radius of a bounded linear
operator L : V. — V by p(L) := lim,, 0 ||L"H%

Lemma 3.5. Let L : V — V be a bounded linear operator. Then we
have that

1. p(L) < || L]}
2. If p(L) < 1 then (idy — L)™' emists.

An operator A : V — V is called a contraction mapping if there
exists a A € [0,1) such that ||Av — Aul| < A|Jv — ul].

Theorem 3.6 (Banach’s Fixed-Point Theorem). Let V' be a Banach
space and A :V — V be a contraction mapping. Then the following
holds true:

1. The equation Av = v has a unique solution v* € V.

2. Let vg € V' be arbitrary then the sequence (vp)nen defined by
Upt1 = Avy,
converges to v*.

Now we are ready to prove a first theoretically important result.
It will help us to identify so called stationary policies to be optimal.
A stationary policy is of the form A = (d,d,...), so it uses the same
decision rule in every decision epoch. In the following proof we will
already illustrate how the Banach fixed-point theorem is related to
infinite Markov decision problems although the next result can be
verified without using it. Later the Banach fixed-point theorem will
become very important.

Theorem 3.7. Let A be a stationary policy in DM . Then the total
expected discounted reward fuf is the unique solution of v =rq+ APyv
i V. Furthermore, we have
oo
vy = (idy — APg) 'ra =Y MNPy
t=1
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Proof. First we note that by Lemma 3.4 we have for an arbitrary
™= (dl,dg,. . ) e phiM

00
vy = Z MNPy,
t=1
=7rq + )\Pdl Tdy + )\2Pd1 Pdgrdg + -

=14y + APy, (g, + APayTay + N Pay Pyyra, + )
=714, + APy, ’Uir,

where 7 := (dg, ds, ...). Now we apply the fact above to the stationary
decision rule A = (d,d, ...) and obtain

Uf =Tq+ )\Pdv/\A, (3.6)
SO vf solves the equation v = rg + APyv.

Next we have to show that vf is unique and an element of V.
To do so define the linear transformation L; : V. — V given by
Lgv =rg+ APyv. Lemma 3.3 asserts that L, indeed maps bounded
functions to bounded functions. Now we have Ldv/\A = vf which
means v)% is a fixed point of Ly. Furthermore, L, is a contraction

since it fulfils a Lipschitz condition
[ Lav — Law|| = [[APgv — APqwl| < [A[[[Fallllv — w]| = |Alllo — wl]],

where we assumed A < 1. Because (V,| - [|c) is complete v{ € V
as well as uniqueness of the solution follow by Banach’s fixed point
theorem.

We furthermore know by rewriting (3.6) that (idy — APy)v{ = rq.
Now (idy — AP;)~! exists because of Lemma 3.5 since [|APy| <
|Al[|P4]| = A < 1. Therefore we have

(idy — APy 'rg =vg = > APy,
t=1

where the last equality is satisfied because of Lemma 3.4. L
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Definition 3.8 (Bellman equations, Optimality equations). The equa-
tions

v(s) = sup r(s,a) + Z Ap(als,a)v(o)
a€As 0€S

are called Bellman equations or optimality equations. We can use our
vector based notation to rewrite these equations as

Bv =w,
where the operator B :V — V is defined by

Bv:= sup rq+ APyv.
deDPM

We further define Lqg:V — V by
Lgv :=rq+ Pyv.

From the proof of Theorem 3.7 we already know that Lg is a
contraction mapping.

Remark 3.9. 1. Recall that d € DPM is a function d : S — A. The
set S is assumed to be discrete, so d can be regarded as a vector in
the finite case or as a sequence in the infinite case. The supremum
above is computed with respect to the componentwise partial
ordering, v < u :& v; < ;.

2. For all v € V' we have supye pruv g+ APqu = supge pom 74 + AP4v.
Since DM > DPM e have SUpPgye prM Tq+ APqv > supge pom rq+
AP;v. To establish the reverse inequality choose v € V' and de
DEM and use Lemma 2.4 for each s € S with Q = A,, p= q; and

FC) =r(s,-)+ D Ap(ols, Ju(o)
oceS

to obtain

sup r(s,a) + Z Ap(ols,a)v(o)
a€EAs cEeS
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> Y gi(a) <r<s,a> - ZAp(a\s,aw(a)) -

a€EAs oceS

Hence we have

sup rq+ APgv > r;+ APj.
deDMD

Because d € DM wag arbitrary we have established the reverse
inequality and thus equality.

3. If the action set is finite the supremum is trivially attained.

4. Solutions of the Bellman equations are fixed points of B.

The following theorem states that the solution of the Bellman
equations, provided it exists, equals the value of the underlying infinite
Markov decision problem. Beforehand we need a small lemma.

Lemma 3.10. Let d € DM be an arbitrary randomized decision
rule.

1. If u,v € V such that u > v we have

(idy — APy) " tu > (idy — APy) " v.

2. If V> 2 >0 we have (idy —APy) "tz > 0 and (idy —\Py) "'z > x.

Proof. We start by proving the second part. We again have p(AP;) < 1
so (idy — AP;)~! exists. Let x > 0. We apply Theorem 3.7 with
rq = = and obtain

(dy —APy) 'z => NP lg=a4 Y MNP e >0 >0
t=1 t=2

hence the second statement follows. For the first statement set x :=
u — v and use the inequality above,

(idy — APy)~H(u —v) > 0.
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Now (idy — AP;) ! is linear, this is clear if S is finite, so the claim
follows. Nevertheless linearity also follows from the fact that (idy —
APy) " Hu—v) = 372, AP (u—v) where the sum is absolutely con-
vergent. Therefore the order of summation can be interchanged and we
have 372 NP Hu —v) = 302 M P e = 3 AT P e =
(idy — APy)~'u — (idy — AP;)~'v. Therefore, we can also include more
general cases, e.g., if S is countably infinite, so the claim especially
holds for any discrete set S. L

Theorem 3.11. Assume that there exists an element v € V with
Bv =wv. Then we have v = v} and the solution v is unique.

Proof. We will show the claim by establishing the following two
statements:

1. If Bv < wv then v} <w.
2. If Bv > v then vy > v.

Consequently if there exists v € V for which Bv = v is fulfilled both
statements above are true. That means vy < v as well as vy > v are
satisfied, so v = vy.

We start with (i). Let 7 = (dq,da,...) € DEM be an arbitrary
policy. Assume we have v € V with v > Bv. This means that

v> sup rq+APju= sup rq-+ APy, (3.7)
deDPM de DEM

where the last equality is due to Remark 3.9. Therefore we have
v >1g + APy v > g + APy, (ra, + APg,v),

where we used (3.7) twice, the first time for decision rule d; and the
second time for decision rule do. Using the notation introduced in
(3.5) we simplify

rd, + )\Pdl (T‘dz + )\szv) =rg, + )\Pdl Tdy + )\QPdl szv
= P797“d1 + )\PT%TdQ + \2P2yp.
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Iterating the above argument n times yields
n—1

v = MNPy, + AP,
k=0

Now we subtract v§ = Y32 A*Pkry, . (Lemma 3.4) on both sides
of the inequality above leading to

[e.9]
v—v] = N'"Plv—> NPy . (3.8)
k=n
Next we will show that the right hand side gets arbitrary small if n is
chosen big enough. Let £ > 0 be arbitrary and define 1 := (1,...,1)

or, if S is countable infinite 1 := (1,1,...) respectively.
Since ||[A\"Pv|| < A*[jv|| and A € [0,1) we have

-1 < \"Plv<el

if n is sufficiently large. Since rewards are assumed to be bounded,
r(s,a) < cforall s € Sand a€ A as well as P¥1 = 1, since P is the
k-step transition matrix (operator if S is infinite), we have

o0

i NePEry  <e i NL=eA") A

for n big enough and hence —» 7 )\kafrdk ., = €1. Combining
these two estimates with (3.8) yields v — v] > 2¢1 and therefore

v > vy + 2¢l.
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Now since ¢ as well as policy © € DM have been arbitrary we have

v> sup vy = sup v} = vy,
neDRM meDRH
where the first equality above is due to Theorem 3.2. Now we want to
prove (ii). So assume Bv > v. Therefore we have v < supgycpom rq +
AP;v. Now choose € > 0 arbitrary. There clearly exists a d € DPM for
which we have v < rg 4+ AP;v + €1 and therefore 4 + 1 > v — APyv.
Now we are using Lemma 3.10 and obtain

(idy — APy) " Y(rqg +e1) > (idy — APy) (v — APyw)
(idy — APy) " (idy — APy)v
V.

We evaluate the left hand side of the inequality above,

(idy — APy) " Y(rqg + 1) = v + Z )\tflPé_lel
t=1

o0
= ¢ Z A1
t=1
A €
= 1
T
where the first equality is due to Theorem 3.7 and Lemma 3.4. Now
we found a policy, namely the stationary policy A = (d,d,...) for
which we have .
v < vf + 171.

Since € was arbitrary we certainly have

m *
v < Sup U\ = U,.
reDRH



3.1 Bellman Equations and Existence of Optimal Policies 51

Recall that the Bellman equations are of the form Bv = v. So we
are looking for a fixed point, therefore we want to apply Banach’s
fixed-point theorem. This would ensure the existence of a solution of
the Bellman equations. To do so we need to show that B:V — V is
a contraction mapping.

Lemma 3.12. The Operator B:V — V is a contraction mapping.

Proof. Let v € V be arbitrary. ||Bv| = || supgeppom rq + APgv|| =
supge pou ||ra + APgv|| < supgepoar ||rall + Al Pal[[v]] < e+ Aol < ¢,
hence B:V — V.

If u = v the inequality ||Bv — Bu|| < K||u — v|| is fulfilled trivially
for every K € R, so let u # v. Now choose € > 0 so that

Ve < v —ul.

Observe that this yields ¢ < y/e|[v — u||. We will use this fact later.
We want to show that

1Bv — Bul| < Allv — ull

for 0 < A < 1. We are doing this componentwise by proving |B[v](s) —
Blu](s)|A < |lv — u||. Now fix s € S and assume w.l.o.g. B[v](s) >
Blu](s). Then choose d*(s) in such a way that

ra<(8) + APy [v](s) + & > desll)lgM ra(s) + APy[v](s). (3.9)

Now we clearly have Blu|(s) = supgecpom rq + APju > 14« + APgu.
We calculate, using || Py || = 1 that

1B[v](s) — Blu](s)| = B[v](s) — Blu](s)
<e+ra(s) + APy [v](s) — ra=(s) — APy [u](s)
< e+ APg[v —ul(s)|
<e+ A Pas (v —u
<e+ AMv—ul
<Vellv —ul + Av —ul|
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= (A+Ve)llv—ull.

Now if B[v](s) < Blu](s) then we also know |B[v](s) — Blu](s)| =
Blul(s) — B[v](s) < (A+¢)|lv —u| . To see the last inequality the
roles of v and u have to be interchanged in the argumentation above,
beginning from inequality (3.9). Since € > 0 was arbitrary we have
|B[v](s) — Blu](s)| < Aljv — ul| for all s € S. Therefore ||Bv — Bu|| <
Al|v — u|| is satisfied for 0 < A\ < 1 by assumption, hence B:V — V
is a contraction mapping. O

Now putting everything together what we have so far yields a central
result for infinite horizon Markov decision problems. Since it is a
main result we exactly recapitulate the assumptions we have made.

Theorem 3.13. Let M = (S, A, p(s'|s,a),r(s,a),\) be an infinite
Markov decision problem where S is discrete, 0 < A < 1 and r(s,a) < ¢
for all s € S and a € A . Then the value of M is v}, the unique
solution of Bv = v.

Proof. Note that (V.|| - ||c) is a Banach space. Moreover B:V — V
is a contraction mapping according to Lemma 3.12. Hence we can use
Banach’s fixed-point theorem and obtain that Bv = v has a unique
solution. Now we know by Theorem 3.11 that the solution v* of
Bv = v fulfils v* = v3. OJ

Next we prove that the Bellman equations can indeed be interpreted
as optimality conditions for infinite Markov decision problems. We
only have to summarize what we already know.

Theorem 3.14. A policy n* € DFH

a solution of Bv = v.

is optimal if and only if vj\r* 18

Proof. Suppose 7* is optimal. By definition we have vj\r* = vy, there-
fore by Theorem 3.13 we know that ’U;\T* solves Bv = v. Now assume
vj\r* solves the Bellman equations. Then by Theorem 3.11 we know
vz\r* = v} hence 7* is optimal. O
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Now we want to convince ourselves that there exists an optimal
policy of the form A = (d, d, . ..), this kind of policy is called stationary.
It uses the same decision rule at every decision epoch. That there are
optimal policies which are stationary is also intuitively clear because
transition probabilities and rewards are independent of time.

We are introducing some common terminology. We will start by
assuming that the suprema in the Bellman equations are attained. In
that case we introduce so called improving and conserving decision
rules to show the existence of a stationary optimal policy.

Definition 3.15. We call the decision rule d, € DPM y-improving
if
d, € argmaxrq + APyv.
deDPM

With D, we denote the set of all v—improving decision rules.

This means a v—improving policy fulfils

rq. + APy = max rgq-+ APy
dy dy e, d d

or, using the operator Ly in Definition 3.8 and the Bellman Operator
we can rewrite this property as

Lg,v = Bu.

Definition 3.16. A decision rule d* € DPM s called conserving if
it 1s v 1mproving.

So conserving decision rules have the property that

sup 74+ APy = rg- + APgvy.
deDpDM

Theorem 3.17. Let S be discrete and suppose the supremum

sup rq+ APyv
deDPM

is attained for all v € V.. Then a policy of the form A := (d*,d*,...),
where d* € DPM s a conserving decision rule, is optimal.
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Proof. We start by observing that a conserving decision rule exist.
Note that vy € V, hence suprg + APyv} is attained by assumption.
Now choose d* € argmax 4+ AP;v} then d* is conserving by definition.
By Theorem 3.13 and by the definition of conserving we have

vy = Buy = sup rq+ APy = rg- + APgevy = Lg=v}.

deDD]W
Now by Theorem 3.7 we have UAA = v}, hence A is optimal. ]
So we finally have
sup v)% = sup v},
deDPM reDRH

where A = (d,d,...) is a stationary policy consisting of conserving
decision rules. Now we have a look at another easy criteria ensuring
the existence of conserving decision rules: Whenever there is an
optimal policy there is also an optimal stationary policy.

Proposition 3.18. Suppose there exists an optimal policy m € DFH .
Then there exists a deterministic stationary optimal policy A.

Proof. Let 7 = (d*,#) with! d € DFM be an optimal policy. Then
we have

vy =T + )\Pd*vir < rge + APg-v}

< sup rd—i-/\Pdv’AT*
deDDPM

= Bv] =y ,

hence the inequalities are equalities and so d is a conserving decision
rule. O

L7* is a randomized history dependent policy. Nevertheless d* is randomized

Markovian since the history up to decision epoch 1 equals the initial state. For
the same reason stationary policies are always Markovian policies.
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Note that in the proof of Theorem 3.17 the assumption that the
supremum is attained was only needed to ensure the existence of
a conserving decision rule. Now we have proved the existence of a
conserving decision rule through the existence of an optimal policy.

In the case where the suprema are not attained we will show that
there exists an e—optimal stationary policy. We define them just like
in the finite horizon case:

Definition 3.19. Fiz e > 0. We call the policy 7F ¢-optimal if
v;\r; >y —el.

Theorem 3.20. Suppose S is discrete. Then for all € > 0 there exists
an e—-optimal deterministic stationary policy.

Proof. Recall that supgepoum rq + APgvy = Bvy = v}. Now choose
d. € DPM g0 that

rdq. + APy vy > sup 14+ APy — (1 —X)el = vy — (1 — N)el.
deDD]W
This yields rg4. > v} — AP viel — (1 — M)el. Since (idy — APy )~ is
order preserving (Lemma 3.10) we have

(idv — )uDdE)_l?"dE
> (idy — APa.) " (0} = APy.v}) — (1= A)(idy — APy,) el
Due to Theorem 3.7 we know that UAA = (idy — APy )" 'ry. where

A = (d,d.,...). We further have (idy — APy.) " (v} — APyv}) =
(idy — APy.) " t(idy — APy vy = v} as well as

> 1
idy — AP, ) 1= \Nlpt-l1 =~ 1,
(1 % da) tz; de 1-\

So altogether we have v/\A > vy —¢€l, hence A = (d.,d.,...) is an
e—optimal policy. ]
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Algorithm 4 Value Iteration Algoritm

Require: Infinite Markov Decision Problem M, starting vector vy,
€.
Ensure: An e-optimal stationary policy A = (d, de, .. .).
v .
repeat
v+
for all s € S do
v'(s) = maxaea, 7(s,a) + A 3255 p(i]s, a)v(j).
end for
until [/ —of| < S
. for all s € S do
. € argmax, 4, 7(5,0) + A Y, cs p(jls, )0/ ()
end for

,_.
e

3.2 Value lteration

Of course, our goal is to construct optimal policies. We will now take a
closer look at the case where the suprema in the Bellman equation are
attained and the state space S is finite. The Value Iteration algorithm
then finds a stationary e—optimal policy.

Definition 3.21. Let x, € V for alln € N and (zp)neny — =¥ be a
convergent sequence. The sequence converges at order o > 0 if there
exists a constant K > 0 for which we have

[n1 — 2" < Kllzn — 27|

Let (xpn)nen be a sequence converging at order o. The rate of conver-
gence is defined as the smallest K for which

21 = 2% < Ky — 2|

Theorem 3.22. Let (vy,)nen be the sequence constructed by the Value
Iteration algorithm. Then we have
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1. v, — vy forn — oo.

2. Convergence is linear with rate \.
3. The policy de constructed by the algorithm is e—optimal.
4. For all n € N we have
n
Jon = 31 < <2 lor — ol

5. For any d, € argmaxry + A\Pyv, we have

22"
1-A

A
[ox" = o3l < [[o1 = wol|,

where A = (dp,dy, .. .).

6. After ne steps the stopping criterion is definitely fulfilled with

e(1-X)
[ (&)
° log A
If S and A are finite sets then the Value Iteration algorithm needs
O(ne|S?|A]) effort.

Proof. 1. Observe that the value iteration algorithm is actually a
fixed point iteration. Line 5 might be expressed in vector notation
as

v' = Bu.

Therefore Banach’s fixed—point theorem proves the claim.

2. We have Bv, = vp41 and Bvy = vy, therefore |lv,11 — v}|| =
|Bv, — Buy|| < A, — v3|| since B : V. — V is a contraction
mapping and hence convergence is linear. Now choosing vg := vy +1
yields v1 = maxye ppom rg+ APjvg = maxye pom rq+ /\Pd(v}"\ +1) =
vy + Al. Now we have v; — v} = A1l = A(vg — v}) hence the
convergence rate is \.
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3. We have |[v — vi]| < [[v{ — vpg1 || + [|ngt1 — o5, where A =
(de,de,...). Observe that we further have Ldsvf = v)% as well as
Lg_vp41 = Bvpy1. Now we calculate

[0 = vl = 12,08 — vna
< || Lg. 08 — Bongall + [Bunsr — v
L4 v — La,vnsa | + [Boass — Boal
< M8 = vnga ]l + Mont1 — vnll.
This yields HUAA — Upt1| < %anﬂ — |l < 5. Now we need a
similar argument to estimate
195~ vt | = 1B — v
< ||Bv} — Bupa|| + |Bupia — v |
= || Bvy = Bupti|l + [|Bvnt1 — Buy|
< Al[ox = vnaall + Allongr — onll.

15

i.

putting the two estimates together we have [[v{ —v}|| < % |vn41—

Again we have [[v} — vpi1] < 25 [vnt1 — val < Therefore,

vp|| < & which yields v} < v{ + 1e, hence A is an e-optimal policy.
4. Using (3) and the contraction property proves the claim:
(1= Nllvn = 0311 < Alon = vt ]l = AlBracr — Bun_s|
< )‘2||”n—1 |
< A|ug — woll.

5. Again using (3) and the contraction property proves the claim:

2\ 2\"

o8 = 3l < T llom — vt < e S T

[vr — voll-

6. The statement in (5) yields a worst case estimate of how often the
repeat—until loop has to be executed to definitely fulfil the stopping
criterion. Solving the equation

27"
1—A

|vr —woll <€
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for n gives the desired quantity n.. Now like in the finite case a
maximization has to be done. If A is finite we have a worst case
estimate: we simply try out every possible value a € A for a fixed
s € §. To be able to compare to other actions we need to perform a
function evaluation which itself is in O(|S|) due to the summation
over all s € S. Hence we have a total effort of O(n.|S|?|A]).

O

3.3 Policy lteration

The second important algorithm for infinite Markov decision problems
is called Policy Iteration. Here we start with an arbitrary policy and
in every iteration step this policy is improved.

Algorithm 5 Policy Iteration Algorithm

Require: Infinite Markov Decision Problem M, starting decision
rule dy € DPM.
Ensure: Optimal decision rule.
1 d do.
2: repeat
32 d+d.
4: v = (Idv — )\Pd)flrd.
5. Choose d' € argmaxycpom g + AP
6: until d' = d

To analyse policy iteration we introduce the operator P: V — V
where

Pv = + (AP; —idy )v.
v denbag(Mrd (APy —idy)v

Note that we now have Pv = Bv — v, hence the Bellman equations
can be expressed by the equation Pv = 0.

Proposition 3.23. For u,v € V and any v—improving decision rule
d, we have

Pu > Pv+ (AP, — idy)(u — v). (3.10)
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Proof. Recall that d, is v—improving if d, € argmaxgcpowm rq +
APgv = argmaxyepom g + (APjv — idy)v. Now by definition we
have

Pu > Td, + ()\Pdv - idv)u,

as well as
Pv=rg, + ()\Pdv — idv)’U.

Now substracting the equality from the inequality gives Pu > Pv +
APy, —idy)(u — v). O

Now we take a closer look at the sequence (vy,)nen constructed by
the Policy Iteration algorithm.

Proposition 3.24. Let v, be successively generated by Algorithm 5.
Then we have

1. Un+1 > Un-

2. For any d € D,,, we have

Un+1 = Unp — ()‘Pd - Z.dV)_LPfUn-

Proof. Let d,, and v,, be constructed by the Policy Iteration.

1. Observe that we have (idy — APy, )v, = rgq, which means v, =
APy, vy + 1q,. Then it follows that rq, ., + APy, vn > 74, +
APy, v, = vy, and hence

Tdpsy = (idy — )\Pdnﬂ)vn.

Now we use Lemma 3.10 with v = rg4,, and v = (idy — APy
and obtain

n+1 )/Un

: 1
Unt1 = (ldV - )\Pdn+1) Tdnir = Un-
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2. Note that d := d,,4+1 is a v, improving decision rule (we already
needed this fact for the very first estimate in the proof of (i)). We
have

Upt1 = (idy — /\Pdvn+1)_1rdn+1 — v, + U,

(idy — APy) "t (rq — (idy — APy)v,) + vy,
(idy — APy) ™! (rg + (AP — idv)v,) + vy,
idy — APy) " Pu, + vy,

vp — (APy — idy) "1 Pu,.

O]

Now Proposition 3.24 gives us a direct formula for v,11 in terms
of v, if we assume that we already know a v,—improving decision
rule d € D,,,. This update formula can be seen as a generalization
of Newtons method z,,1 = , — f'(x) "' f(x,) for finding zeros of
a function f. If f is convex and has a zero Z as well as f(z9) > 0
then (z,,)nen is @ monotonically decreasing sequence with x,, — .
Now (3.10) somehow looks similar to f(x) > f(y) + f'(y)(z — y), a
property that characterizes convex functions if fulfilled for every x,y
in the domain of f. We are interested in solving Pv = 0 since this
equation is equivalent to the Bellman equation Bv = v. This analogy
gives rise to define N : V. — V,

Nv =0+ (idy — APy,) "1 Po.

We further define Vp := {v € V' : Pv > 0}. Note that if v € Vp we
have Pv = Bv — v > 0 and by the proof of Theorem 3.11 v < v}. So
whenever v € Vp then v is a lower bound of v}.

Before we are able to prove convergence of the policy iteration we
need the following lemma.

Lemma 3.25. Let v € Vp, choose d, € D, and assume v > u. Then
we have

1. Nv > Bu.
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2. NUGVP.

Proof. 1. First note that if v > wu there exists a vector ¢ > 0 with
v =u+e Now Bv = B(u+ €) = supgepom rq + Pyu + Pie >
supge pom rq + Pgu = Bu because Pge > 0. Since v € Vp we have
Pv > 0 and therefore by Lemma 3.10, where we set x = Puv, we
see that

Nv:v—l—(idv—)\Pd)_va > v+ Pv = Bv > Bu.

2. We are using Proposition 3.23 with v = N (v) to obtain
P(Nv) > Pv+ (AP, —idy)(Nv —v) = Pv— Pv = 0.
O

Now we are ready to provide a convergence result for the Policy
Iteration.

Theorem 3.26. The sequence (v, )nen generated by the Policy Itera-
tion algorithm converges monotonically to vy.

Proof. We define uy, := B*vy. By Theorem 3.22 we already know that
|lur, —vy]] = 0 if £ — co. We now show inductively, that

up < v <o) and v € Vp.

If this is satisfied |lvy, — v}]| = 0 which yields the claim.

Now let £ = 0. We have Pvy > Tdo + ()\Pdo —idv)vo =74, t ()\Pdo —
idy)(idy — APy, )" 'rg, = 0, hence vy € Vp. This furthermore yields
Pvg = Bug — vy > 0 and therefore Bvg > vy which implies, using the
proof of Theorem 3.11, vy < vy. Furthermore we have ug = B = vy,
therefore ug < vyg.

Now lets assume that the result holds for all k¥ < n. The iterates
of the Policy Iteration fulfil v,+; = Nv. By Lemma 3.25 and by
the induction hypothesis we have that v, 1 € Vp as well as v,41 =
Nuv, > Buy, = upy1. Finally, we also have Pv,i1 = P(N(vy,)) > 0
and analogously to the induction basis we have Bv,11 > vy41 and
therefore again v,41 < v3.

Monotonicity of (v, )nen follows from Proposition 3.24. O
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Now the problem is that we have no guarantee that the stopping
criterion in Algorithm 5 is fulfilled in finite time. Therefore, we again
have to be content with e—optimal policies. To construct e—optimal
policies we just use the stopping criterion of the Value Iteration
algorithm. So Algorithm 5 has to be slightly adapted. We now have
to store not only the current v,, but also v,,_1 to be able to compare
these two values.

Algorithm 6 e-Optimal Policy Iteration Algorithm

Require: Infinite Markov Decision Problem M, starting decision
rule dy € DPM ¢,
Ensure: c-optimal policy.
cd do
v = (Idv — )\Pd)_lrd
repeat
v
v = (Idv — )\Pd)flrd
Choose d’ € argmax e ppum 7q + AP0’
d<«d
until [[v/ — o] < el

The proof for e—optimality is the same as we had in Theorem 3.22
since the stopping criterion is the same.

Now we want to take a closer look at the convergence rate of the
Policy Iteration algorithm. We already know that convergence is
at least linear since convergence of Value Iteration is linear and the
iterates produced by Value Iteration are always smaller or equal to
the iterates produced by Policy Iteration (and both Value and Policy
Iteration produce iterates bounded from above by v3). Under certain
conditions we have quadratic convergence.

Theorem 3.27. Let (v,)nen be the sequence generated by the Policy
Iteration algorithm and d,, € D,,, . Suppose further that

1P, = P || < effon = vx]l;
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where 0 < ¢ < 0o and define Py := Pvi'
Then we have

cA
[vny1 — o3| < ﬁ”vn — vi|%.

Proof. Using Proposition 3.23 we have
Puy, > Poy + (APg — idy ) (v, — vY) > (AP« — idy ) (v, — v3).
Now this yields with Lemma 3.10
(idy — APy,) " 'Pv, > (idy — APy, ) ' (AP — idy ) (v, — v})
and hence
(APy, —idy) " Pu, < (AP, —idy) "' ( APy — idy ) (v, — v})

because —(AP;, —idy) ™! = (idy — APy, )~!. Using this inequality we
can estimate

VY — Unt1
= vy — N,
=0} — vn + (APy, —idy) " Poy,
< (AP, —idy) " (AP, — idv) (v} — vy)
+ (AP, — idy) (AP — idy) (vy, — v})
= (APy, —idy) " (APy, — APge) (v} — vn).

Now this yields

IA

|(APy, —idv) " ||| AP, — APy

[ox = vnal] [0} = vnll

IN

Acl|vx = vnl?,

1—-A
because A|| Py, — Pg+|| < cA||vy — v, || by assumption and

I(APs, —idv) 7| = [|(idv — APa,) ™|



3.3 Policy Iteration

65

= sup ||(idy — )\Pdn)*lvH
lvll<1

o
= sup ||Z)\t_1Pé;1v||
loll<1 3=

[ee]
<) AR
t=1

[o.¢]
<A1
t=1



4 Markov Decision Problems and
Clinical Trials

In this chapter we want to investigate the applicability of the MDP-
theory to clinical trials. We want to do that in a response adaptive
way so that the future trial members already benefit from the previous
ones. The goal is to identify the better treatment and keep the number
of trial members treated with the inferior therapy small. In [BE95]
and [HS91] we find an approach using Bandit models which are similar
to Markov decision problems. In [Pre09] some ethical cost models are
introduced. In [Put94] and in [BR11] we find an overview how Bandit
models can be treated as Markov decision problems. Both suggest
that possible applications are clinical trials. In the following we give
a detailed description how a possible implementation of a Markov
decision problem for clinical trials looks like and provide numerical
results.

We want to compare two medical treatments 77 and T5 with two
unknown success probabilities p; and po. In the trial we have alto-
gether M patients and we want to sequentially allocate them to one
of the two treatments.

We assume dichotomous outcomes which can be observed immedi-
ately: after every allocation we observe either a success s or a fail f.
Allocation of the (n + 1)-st person should be based on the knowledge
we gained so far. The knowledge k,, at time point n is a four-tupel,

kn = (517f17827f2)7

where s; is the number of patients allocated to treatment 77 and a
success § is observed whereas f1 is the number of patients allocated
to treatment 77 where a negative effect § could be measured. The

T. Ondra, Optimized Response-Adaptive Clinical Trials, BestMasters,
DOI 10.1007/978-3-658-08344-1 4, © Springer Fachmedien Wiesbaden 2015
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quantities sy and fo for treatment T are defined analogously. We
define the set of all possible knowledge

g = {(s1, f1, 82, f2) : 80, fi €Nys1 4+ f1 + 52+ fo < M},

K, ]\A/f[ is the integer valued four dimensional simplex with edge length
M. After we have allocated the (n + 1)-st person we update our
knowledge correspondingly, e.g., if we have allocated the person to
treatment T and a positive effect could be observed we have k1 =
(s1, f1,82 + 1, f2) and if a negative effect could be observed we have
knt1 = (s1, f1,S2, fo + 1). We normally have a starting knowledge of
ko = (0,0,0,0).

The goal is to find a good allocation policy which takes into account
the following two things:

1. In the end the treatment with the higher efficacy should be identi-
fied.

2. We want to have as few patient losses as possible. This means that
the majority of trial members should receive the better of the two
treatments.

The first requirement is the one you expect from a clinical trial.
Randomized assignment of patients to treatments is the standard in
clinical practice. In the end of the trial some statistical hypothesis tests
at a high level of statistical significance are made for establishing the
effectiveness of medical treatments. Nevertheless, since allocation is
randomized there will always be many patients assigned to the inferior
treatment which leads to ethical problems. The second requirement
counteracts this issue and has the advantage that more volunteers are
willing to participate in a clinical trial since they know that they will
be treated — in some sense — to the best of one’s knowledge. Here in
some sense is determined by the ingredients of the underlying Markov
decision problem. It depends on the set of actions, the set of states,
the transition probabilities, and the rewards.

We start with a short overview of ethical cost models based on
[Pre09] where the allocation problem is treated with the help of Bandit
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models. Let ¢; and ¢o be the costs for treating a patient with 77 and
T5 respectively. They should only depend on the unknown success
probabilities p; and ps what leads to an ethical choice. FEzpected
failures assigns the costs for treating a patient in the following way:

ci(p1,p2) =1—p1, ca(p1,p2) =1 —po,

hence we have high costs if we choose a treatment with a small success
probability. Then there is a cost model called expected successes lost,
this assigns the difference of the success probabilities only if we choose
the worse of the two treatments according to

0 if p1 > po
c1(p1,p2) = . ;

p2—p1 ifpr <po

0 if po > m
02(1017172) = .

p1 —p2  if po < p1.

Let Dy and Ds denote the costs of treatment 77 and T5. Including
the costs for a treatment leads to Dollar cost of failure,

c1(p1,p2) = (1 —p1)D1,  c2(p1,p2) = (1 — p2)D1. (4.1)

This cost function is kind of problematic since it could in principle
be that the worse treatment still has lower costs due to the lower
treatment cost. Better is the following choice

0 if p1 > p2
(p2 —p1)D1 if p1 < p2’

c1(p1,p2) = {

0 if p2 > p1
(p1 —p2)D2  if pa < py,

c2(p1,p2) = {

called expected cost of treatment of lost successes. This model only
assigns costs if the worse of the two treatments is used.

Markov decision problems somehow solve the “exploration versus
exploitation” dilemma. If you want to assign the next patient to
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a treatment and you know that, lets say 77, has a high success
probability then you can have a high immediate reward—you exploit
the information you already have. Sometimes it might be better if you
assign the treatment from which you do not have a clear impression
how good it is. Then you explore some information by assigning 75
hoping that it has an even higher success probability.

In the next section we want to describe how we choose the state
space, the set of actions, the transition probabilities, and the re-
wards.

4.1 Finite Horizon Markov Decision Problem
Formulation

We have two actions in every decision epoch, namely allocating the
current patient to one of the treatments, hence A := {17, T>}. Fur-
thermore, we set the horizon length to T' := M + 1, where M is
the number of participants in the trial. This is because we want to
allocate all of the M patients and at the last time point M + 1 by
definition we get a final reward but no action has to be chosen.
Finding an appropriate state space is more tricky. We will encode
our belief about the success probabilities in the state space. We
consider the unknown probabilities p; and ps themselves to be random
variables and express our knowledge about these success probabilities
through probability densities. Given two densities f; and fy for pg
and py the corresponding Bayesian estimators p; and ps are given by

1
B = Ep(X) = / rfi(x) da,

1
@ZEfQ(X)z/O x fo(z) du.

With & we denote the set of all probability densities with support on
[0,1] and define the state space S := 2 x Z. Hence, an element of
the state space is a pair of probability densities, s = (f1, f2) reflecting
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our belief of the unknown success probabilities. After every allocation
of one patient to one treatment the state changes.

Now we want to define transition probabilities. The next state
s = (f1, f5) is allowed to depend on the current state s = (f1, f2) and
the chosen action a € A = {11, T>} which results in an observation,
namely if the treatment was successful or not. We assume that this
observation can be made immediately after we medicate the patient.
If we decide to use treatment 77 we certainly do not gain additional
information about the second treatment, hence s’ = (f{, f2) so we do
not change our belief about the treatment which is currently not used.
If we choose treatment T5 the same is true, meaning that the density
for the first treatment 77 will stay the same, but the density for the
second treatment is allowed to change.

Two questions arise: How should the part of the state space which
is allowed to change be updated and what is the right probability
therefore.

Assume we have decided to use treatment 77. After this allocation
we observe either s or f. Based on this binary observation we want
to update f;. We define the binary random variable Y : Q — {s, f}
where P(Y =) :=p; and P(Y =f) =1 — p1 and define the formula
for the posterior density given a binary observation Y and a prior
density fi,

P(Y =ylp1 = z) f1(x)

filpr =2y =y) = PY =)

We derive the posterior densities according to the definition,

fi(@) = fials) = D12,
p1
if a success s is observed and
1
file) = fila = S0

if a fail f is observed.
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Remark 4.1. Indeed f] is a probability density on Q = [0, 1]. Consider
for example

[ e g ([ e e o)

1
1—191( D

because f; is assumed to be a probability density on [0, 1]. One easily
calculates that also folf{ (x|s) dz = 1. Moreover f{ >0 on [0,1], so f{
is a probability density. Analogously we have that f} is a probability
density.

Now, if we choose treatment 77, to a given state s = (f1, f2) we
have s’ = (f{, f2) where we expect f{ = f1(z|s) with probability p;
and f{ = fa(z|f) with probability 1 — p;. So to a given density fi
we only allow two possible succeeding densities. Then the updated
density f{ will also change the estimator for p; since we then assume
a new density for it.

These considerations lead to the transition probabilities

p(sl = (f{?fé)‘s = (fl?f?)?a = Tl)

13\1 lf 5, = %1(3:)7 f2)
1-pi if o = (U520, f2> (4.2)
0 otherwise,

and analogously for treatment 7, we have

p(sl = (f{?fé)‘s = (fl)f?)’a = TQ)

B it = (h, )
L= ifs = (fi, 15200)  (43)
0 otherwise.

Definition 4.2 (Beta function and beta distribution). The function

1
B(a,b) :—/ 24711 — z)tda
0
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is called beta function.
The probability density function fqp of the (a,b)-beta distribution
is given by

L —1 b—1
fopa) = Bap @ (Lm0 f0sas]
a =
7 0 otherwise.

Lemma 4.3. Fizi € {1,2} and let f; be a density of the (a,b)-beta
distribution. Then we have that

1. fi(z|s) is a density of the (a + 1,b)-beta distribution.
2. fi(z|f) is a density of the (a,b+ 1)-beta distribution.

3. If we observe s successes and f fails in s + f trials then the
corresponding (s + f)—times updated density is the density of an
(a+ s,b+ f)-beta distribution.

4. If X is (a,b)~beta distributed we have E(X) = 4.

Proof. 1. We have

_ ofile) _ z*(1—z)"!
fi(zls) = P Blab) [—f a1l 2p1q
(a,0) [y mages (1 —2)" ' do
B :Ea(l —:L‘)b_l
" Bla+1,b)
:fa+1,b(x)'

2. First of all we have, by definition of B(a,b) that

1,.a—1 _ b—1
/ r Ty (1-z) dr =1,
0 B(CL, b)

and hence

Lgpatl(] — g)b-1 1

x x x

1—@——/ dx—/ 21— z) e
0 B(a,b) 0
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B 1 _xxafl(l_w)bfl i
- [a-» Bab) O

_ B(a,b+1)
~ B(a,b)

Finally we have

(1—=2)fr(x) (1= )t (1 — )b
L=pi B(a,b)(1 - 5)
1 o
~ Byt O

= fap+1(2).

fr(x]f) =

3. Follows from (i) and (i7) if applied iteratively.
4. We have to use the identity

[(a)L(b)

B(a,b):m,

where I' denotes the Gamma function, as well as the functional
equation I'(a + 1) = al'(a). Then we easily calculate

o, L T(a+DTR)
E(X) = B(a,b)/o 21— o) dr = pree
_ al’(a)'(b)
(a+b)B(a,b)I'(a+0b)
B

O]

This now yields, from a computational perspective, to an important
simplification. If we start with a beta distributed prior, i.e., with a
density of a beta distribution all the further densities will also be
densities of beta distributions if updated according to (4.2) and (4.3).
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This means that we do not have to use S = Z x &, which would be
computationally infeasible. Instead we use our knowledge space

S = Xy}

defined at the beginning of this chapter. Given the initial parameters
(a1,b1) and (ag,bs), needed for the prior beta distributions, every
element of J#;; now defines a pair of beta distributions through
¢ Hh — D x D given by

30((517 J1, 82, f2)) = (fa1+81,b1+f1’ fa2+52,b2+f2)-

Conversely, if we start with a pair of (a;, b;)—beta distributions, where
i = {1,2} every possible! pair of probability densities defines an
element of %, A‘j. Since we know by Lemma 4.3 that the possible prob-
ability density pairs are of the form (fy, 4, +(n—1))i=1,2 the mapping ¢
is invertible if & x Z is restricted to the possible probability densities.
Then we have

0 (fapy fr6) = (@ — a1, B — b1,y — az,8 — b).

Now via this bijection we define the transition probabilities for S =

4
%M7

p((sll’fivséafé”(slaf1782af2)7a)
= p(sp(sllaf{’5,27fé)’¢(517f1)827f2)7a))

what leads to

p((8,17f{?8/23fé)|(817f1a527f2)aa = Tl)

P ifs) =s1+1ANfil=finsy=s52Af,=fa
=¢1-p1 ifsi=siANfi=fit1Ash=saNfo=fr (44)
0 else

'Possible means here that the probability that a pair of densities occurs in a
state at an arbitrary time is not zero.
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and
p((slluf{?séafé)’(slaflvs%f2)7a:T2)
]5\2 ifSllzsl/\f{:fl/\s’2252—|—1/\fé:f2
=q1l—p ifsi=siAfl=finsh=saNfy=Ffa+1 (4.5)
0 else

If we don’t have a clue which of the treatments is better in advance,
what is usually the case, we can use the uninformative prior a; =
by = as = by = 1, in that case @(070,0,0) = (f171,f171).

Ezample 4.4. We start with an uninformative prior. Assume we
have five patients in a clinical trial and we use the policy m =
(Th,T1,T5,T1,T»). In a clinical trial a policy is often called an al-
location sequence since it tells us how to allocate the trial members to
the treatments. Assume further the following observations sequence
O = (s,5,f,f,5). In Table 4.1 we see the corresponding knowledge
and pair of densities. Now assume that after we have observed O

Table 4.1: Knowledge and density update

time | knowledge k,, | associated density pair | py Do

k=0 (0,0,0,0) (fi1,f11) 0,5 | 0,5
k=1 (1,0,0,0) (fo1, fi1) 0,66 | 0,5
k=2 (2,0,0,0) (f31,f11) 0,75 | 0,5
k=31 (200,1) (f3.1, f1,2) 0,751 0,33
k=4 (27 1,0, 1) (f3,2a f1,2) 0,6 0,33
k=5 (2717171) (f3,27f2,2> 0,6 0,5

there is one more trial member. If we choose treatment 77 we ex-
pect a success with probability 0,6. In that case we would have
ke = (3,1,1,1) and the density pair (fi2,f22). With probability
0,4 we have kg = (2,2,1,1) and (f33, fo2). If we decide to use
treatment 75 then we have kg = (2,1,2,1) and (f3,2, f3.2) as well as
ke = (2,1,1,2) and (f3,2, f2,3) both with equal probability 0, 5.
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4.1.1 Size and Enumeration of the Knowledge Space

First we want to calculate the size of the knowledge space %, i.e.,
the number of integer valued points in the four dimensional simplex
with edge length M. We can do this more generally for JZ}}, the n
dimensional simplex with edge length M,

g i ={(my,...,my) :m; EN,Zmi < M}.
i=1

We define R, (M) as the cardinality of J#}]},

M M M
Ro(M) == > > ... > xum(mi...,my),  (4.6)

mi =0 ma =0 my=0
where

xa(ma, ...

1 if Yo7 <M
7mn) — 1 Zz:.l m; =
0 otherwise.

It is clear that the second equality in (4.6) is satisfied by definition of
Xm(mi,...,my). In the following we will find an expression for (4.6)
which is easier to handle. Before we go on we need a small lemma.

Lemma 4.5. The following equation is satisfied:
Xy (ma, ..o ,my) = XM—m, (M1, ..., Mp_1).
Proof. Suppose
Xyv(ma,...,my) =1

n
=1
n—1

& Z:mZ <M-m,
=1

<~ XMfmn(mlv . ,mn_l) =1.
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Since xas is either 0 or 1 we also have by contraposition
Xv(ma,...,my) =0< Xp—m, (M1,...,mu—1) =0.
O

Now we are able to calculate R, (M) through a recurrence relation.

Theorem 4.6. The number of integer points in the n—dimensional
simplezx with edge length M, Ry, (M), satisfies the following recurrence:

Ri(M)=M+1 (4.7a)
M
i=0

Proof. Clearly we have Ry(M) = 2%1:0 xm(myi) =M + 1. Now we
calculate

M M M
Ro(M)= > > ... xum(mi,...,my)

m1=0mao=0 mp=0
M M
= E E . E XM—mn(mh 7mn—1)
mp=0m1=0 Mp—1=0

mnp=0 m1=0 My —1=0
M
= ) Ry a(M—my)
mp=
M
= Rn—l(mn)~
my=0

In the second step we changed the summation order and used Lemma
4.5. In the last step we again changed the summation order. Replacing
the summation index m,, by the index ¢ yields the result. O
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Theorem 4.7. The function

Ry (M) — (M]\}r n>

satisfies the recurrence relations (4.7) and hence equals the number of

integer points in the n—dimensional simplex with edge length M.

Proof. We proof the claim by induction on n. Fix an M € N and set
n = 1. Then we have Ry (M) = (M]\jlrl) = (M]\;;!l)! = M + 1. Now recall
that

(-G ()

= + s

y y—1 Y

which is one of the fundamental properties for binomial coefficients.
In the following calculation we iteratively apply this formula,

Rn+1(M)_<M+n+1>
<n—|—1> (n—f1>+(n;—2>+'“+<nLM>
) () ) (3

hence we have proved the claim by induction. Ol

In our application n is small compared to M, so we better rewrite
1
R, (M) = E(M +1)(M+2)--- (M +n).

This means we know now that we only can handle small clinical trails.
If we have a trial size of 100 patients we already have a state space of
size R4(100) ~ 4.6 - 105. The small action space and the fact that, if
an action is fixed and a state is given, only two possible subsequent
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10

8 9 16

5 6 7 14 15 19

1y @& © ¢ 11 12 13 17 18 20

Figure 4.1: Enumeration of J#5°.

states have to be considered in the subsequent decision epoch still
make it possible to use backward induction for M = 100. We only
have two possible subsequent states because all the other states have
probability zero.

For implementation purposes we need an enumeration of the points
in ¢y}, this is a bijective mapping ¢, : J£y; — N. This is because the
program represents the state space through a set S = {1,...,¢} and
we want to switch between a number in S and a state in %, ]\‘}I. We
already know that we have to set ¢ := (MA}") since this number equals
the size of the knowledge space. We illustrate the way of enumeration

with the help of an example.

Ezample 4.8. We want to enumerate the points in J£/33. We have
a look at Figure 4.1, where we can see four groups of points. The
leftmost group contains all points of the form (mq,mg,0) € Jig?’ . The
next group contains all points of the form (my,ms,1) € %3, then we
have the points (m1,mg,2) € ;> and finally we have all points of
the form (my,ma,3) € 3. Since (mq1,ma, 3) € 5> there is actually
only one point of this form, namely (0,0,3). The groups of points
(from left to right) represent the intersections of .#® with the planes
2=0,z=1,z=2and z =3 in R® where the point Q) in the figure
corresponds to (0,0,0) € R3.

Now, for example, consider the point p = (1,0, 2). Comparing to
Figure 4.1 we have ¢(p) = 18. How can we calculate this number?
Well first we have to handle the z-component of the point p. This
means we have to count the number of points of the form (m;, ms,0) €
253 and (my,ma, 1) € 53, which all lie below p. This sum equals
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R5(3) + R2(2). Then, in principal we would have to proceed with
the y-coordinate analogously. Since in this example the y—component
equals zero this part is dropped. Then we have to handle the z-
component, i.e. we have to add Ri(1) to the sum. All together we
now have

¥(p) = R2(3)+ R2(2)+ Ru(1) = <3 _5 2) + (2 ;r 2) + (1 le 1) =18

For an arbitrary point we have

m3z—1 mo—1

Y(m1, ma, m3) = Z Ro(M —i) + Z Ry(M —i—mg3) + Ri(my).
i=0 i=0

This can be generalized to J£}; by

n—1mj+1—1
¢n(m1,...,mn): Z Rj(M—i— Z mk> +R1(m1),

j=1 =0 k>j+1
hence in the for our application important four-dimensional case:
ma—1 maz—1

Ya(me, ma,m3, my) = Z Rs(M —i) + Z Ro(M — i —my)
i=0 i=0

mo—1

+ Y Ri(M —i—my—mg3)+ Ri(my).
=0

Evaluating these sums is straight forward but lengthy. With the help
of MATHEMATICA we can calculate a closed form of 14, which is a
lengthy polynomial in M, m1,mg, ms and my:

3my  m3  1lmg 9 3
p— 1 —_— — — _ —_
a(my, ma, ms, my) +my + 5 5 6 ms 5
25mg  35m2  5mi  mj
_ _ T4 M
12 24 12 2a M

m3M n 3omyM 5miM

9ms M —
+ams 2 12 4
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mi M n ms M? n 5maM> _ m3M?
6 2 4 4
m4M3
6

+

Nevertheless, we then have a quick way to switch from our knowledge
space to the internal representation of the state space S.

Getting from a number 2 € S back to an element of the knowledge
space, is done in the following way: Before we start the Backward
Induction algorithm we generate a matrix C' € N |#3 %4 where Cy,. =
¥~Y(x). The construction of C' is described in Algorithm 7.

Algorithm 7 Number to State

Require: A number z € S.
Ensure: ~!(z), i.e. the corresponding state (mi,ma,m3,my) €
b,
1: counter =0
2: for my =0 to M do
3: for mg=0to M do

4: for ms =0 to M do

5: for mi =0 to M do

6: if m1 +mo + msg +my < M then
7: counter < counter+1

8: end if

9: if counter= x then

10: return (mq,mg, ms, my)
11: end if

12: end for

13: end for

14:  end for

15: end for

Now having access to a given row should be quick, so altogether we
have a quick possibility to change between the representations of the
state spaces.
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Finally we have to specify the rewards. Based on the cost functions
introduced in the beginning of the chapter we define the reward
functions expected successes

T‘i(PLPQ) = Pi-

Then we have expected failures avoided,

p1—p2 ifp1 > po
r1(p1,p2) =

0 if p1 < pa’
p2—p1 ifpo >y
ro(p1,p2) = 0 if py < 1

A way to use the cost models directly involving the costs of the
treatments is to introduce a positive strictly decreasing function p
and set

r1(p1,p2) = p1p(D1),  7r2(p1,p2) = p2p(D2).

Finally, the last cost model described in the beginning of this chapter
can be turned into a reward by

p1 —p2)p(D1) if p1 > po
7"1(p1,p2)={(() o it p1 < p2

p2 —p1)p(D2) if p2 > p1
7"2(]91,]92):{(() e ifp2<p1'

We do not know the real success probabilities p; and ps, so we take
the estimators p; and pz. With p;y and pa we denote the updated
estimators, that is the success probabilities in the next round. Now we
can assign the rewards for the underlying Markov decision problem,

r(s,a ="Ty) := pir1(p1+,p2) + (1 — p1)ri(p1—, p2)
T(Saa = TQ) = ]5\272(}51’52-1) + (]‘ —]5\1)7”1(]5\1,@),
where
~ s1+1 ~ so+1
Ph=—"—7F"% P2=

s1+ f1+2 S+ fo +2
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if we start with the non informative prior. Furthermore then

. s1+ 2 — s1+1
Pt = s1+ f1+3 pr—== s1+f1+3

The quantities po and po_ are defined analogously. Now we want to
define the final rewards. Assume we finished our clinical trial with
M trial members. The last observation, s or f leads to the final state.
Assume further we have an estimation p of how many people outside
the trial will receive the treatment. Then we set the final reward
to r(s) := pmax(r1(p1,p2), r2(p1,p2)) where r; is one of the reward
models mentioned above.

Now we defined the horizon length, the state space, the transition
probabilities, and some reward models and hence have a complete
Markov decision problem formulation for the finite horizon case.

4.1.2 Implementation Considerations

We now want to have a quick look at the Backward Induction Al-
gorithm 3. As already mentioned we internally represent a state by a
number s € S = {1,..., (MJ4) }. How we switch between a knowledge
an an internal state is explained in the previous section. For a given
te{M,...,1} and a given s € S we have to solve

. 4.8
max ry(s, a) +§pt(01570)ut+1(0) (4.8)

This can be done quickly since we only have two actions and the sum
has only two non-zero terms if a is also fixed because then a state
has only two possible successors. Then there is another important
simplification. Consider an arbitrary history

(s1,a1,52,02, .., S\, AM, SM+1)-

We have a; € {T1,T5} for all 1 <i < M. Now s; = (0,0,0,0), there
is no other state possible since we did not start the clinical trial. In
this section we denote the number of successful treatments with s
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and S in order to avoid mixing it up with the state s;. The number
of fails are denoted by F; and Fy. Then sy = (S1,F1,S2,F2) with
S1 4+ F1 + So 4+ Fo = 1, hence after allocating the first person there are
only four states possible. Histories where ss is a state not fulfilling
this properties have probability zero and hence do not have to be
considered.

If the Backward Induction is started at ¢ = M, then the for—
loop in Algorithm 3 has only to be executed for states fulfilling
S +F1 +S +Fy = M — 1. Then t is set to M — 1 and at this
stage only states with S; + F1 + So + Fo = M — 2 have to be taken
into account. Altogether this leads to an effort of O(|-#,}]), hence
the effort is linear in the size of the state space. Whenever there is
more than one element in A; maximizing (4.8) we assign T} or Th
equiprobable.

4.1.3 Numerical Results

In this section we want to compare the Markov decision based policy
Ty p together with the reward model expected successes with the
outcome of an equal randomization allocation strategy mrr. Now
TMD IS a (M]\j}4) x M matrix where M is the number of trial members.
(mamD)s,j contains the information what treatment has to be used next
if we are in state s € S at time point j. If s and j are state—time
combinations which do not fit together we set (my/p);; = 0. Such a
blown up framework is actually not needed but it conforms with the
description in the theory part.

Let O, € {s,{}™ be the vector containing the observed successes
and treatment failures. Observation (O ); is a realization of a Bernoulli
random variable with parameter p; if treatment 77 is chosen and
parameter po if treatment T5 is chosen for the i-th trial member. The
treatment chosen for patient ¢ depends on the used policy 7. With

aHOC(Oﬂ) S {Tl,TQ}M

we denote the allocation sequence given by the policy . Now
(alloc(Or)); contains the information which treatment person i re-
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ceives. Note that (alloc(Or)); is dependent on the observation se-
quence only up to observation ¢ — 1. These observations result in
a knowledge (s1, f1, 2, f2). This knowledge itself corresponds to an
internal state s, hence

(alloc(Ox))i == ms;.

Now we want to compare two policies. Therefore, we need a measure
how “good” an allocation is. Let us define p(T;) := p; and

PN p1 ifp1 > po
F(p1,p2) = { .
p2  otherwise,

where p; and ps are the estimators of the success probabilities based
on the last knowledge in the trial, i.e., after the last trial member is
medicated. Similar to [BE95] we choose

L(Oz) = (M + p) max(p1, p2) (ZP ((alloc(O )+M-7:(17A17PA2)> :

We always have £(Or) > 0. The smaller £(O;) is the better the
allocation was.

Suppose we would know in advance which treatment has the higher
success probability, then all patients could get the better one. This
leads to a reward of (M + p) max(p1, p2) because M is the number of
trial members and p is an estimator of the people outside the trial
who need to be treated. From that quantity we subtract the value of
the allocation induced by the policy w. Then after the trial we need
to decide how the other u persons should be treated. This is done
based on the estimated success probabilities p; and ps. We simply
choose the treatment which has the higher success probability. In
Figure 4.2 we choose M = 100 and p = 1000. We furthermore fix
p1 = 0.8 and pg varies from zero to one in 0,05 steps. For every pair
of success probabilities and a given policy we simulate 100 clinical
trials leading to 100 realizations of £(O;). Boxplots are a possibility
to make the results visible. Every box corresponds to a pair of success
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probabilities and a data set of 100 loss values £(O). On each box,
the central mark is the median. The edges of the box are the 25 and
75 percentiles. The whiskers extend to the most extreme data point
not considered as an outlier, i.e., observations which fulfill

g1 —1,5(g3 —q1) < L(Or) < g3+ 1,5(q3 — q1),

where g1 and g3 are the 25 and 75 percentiles. Outliers are not drawn.

Looking at Figure 4.2 reveals that my;p works clearly better than
wpr if § := |p1 — p2| is not too small. If however § is small we see
that the performance of both methods is equally good. If § is less
than 0.05 then it is not really possible to tell, based on a study size
of M = 100 which treatment is superior. All in all we have a method
which fulfils requirement (ii), made at the beginning of this chapter,
if 6 is not too small since £(Ox,,,,) is small then. Figures A.4, A.5
and A.6 illustrate the situation for p; € {0.2,0.4,0.6}.

The method also fulfils requirement (i) comparable to Tgpr as we
can see in Figure 4.3. If at the end of the trial p1 > ps and p; < po or
Py > p1 and py < p1 we made a wrong decision because the p persons
outside the trial receive the inferior treatment. The number of wrong
decisions can be seen in Figure 4.3. Again we fix p; = 0.8 while ps
varies. Furthermore Figures A.1, A.2 and A.3 illustrate the situation
for p1 € {0.2,0.4,0.6}.

4.2 Infinite Horizon Markov Decision Problem
Formulation

Now we want to take a look at an infinite horizon model for clinical
trials. Since in this case the knowledge space

Ho = {(s1, f1, 82, f2) : 81, f1, 82, f» € N}

is not finite it is impossible to use one of the presented algorithms.
One possible solution is to truncate the state space and introduce
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Figure 4.2: Here p1 = 0.8 is fixed and ps varies from 0 to 1. For every ps
value we simulate 100 clinical trials and therefore have 100 realiza-
tions of £(Oxr,,p) and L(Oxyp), respectively. Based on this data
for every p2 a box-plot is performed.
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20 | :

Number of wrong decisions

Figure 4.3: Here we see the number of wrong decisions (better treatment not
detected) produced from MDP Policy and Equal Randomization
out of 100 trials for fixed p1 = 0.8 and p2 varying from 0.5 up
to 1 in 0.025 steps. For each value of p» we see one dark grey
(for marp) and one light grey (for mgr) bar. We see that there is
essentially no difference between the number of failures produced
by the two policies.

absorbing states. We again want to consider a clinical trial with M
trial members. A state is an absorbing state if s1 + f1 +s1 + f1 = M.
The transition probability for absorbing states is set to

p((8/17f]/.78,27fé)‘(817f17327f2)7ai)
:{1 if (51, 1, 85, f5) = (51, f1, 52, f2)

| (4.9)
0 otherwise.

The other transition probabilities and the actions are the same as in
the finite horizon case. The rewards are in principle the same despite
the fact that we have to discount them with a discount factor .

In an infinite horizon setting we therefore do not need an explicit
estimate p for the patients outside the trial. All patients outside the
trial, in this case infinitely many, will be allocated to the treatment
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with the higher estimated success probability since the process is
caught in an absorbing state.

Discounting is kind of problematic since then not all patients are
worth the same, but: Patients treated later have therefore the advant-
age that they might benefit from the knowledge already learned about
the two treatments.

We want to calculate an approximate solution for the infinite horizon
Markov decision problem with the Policy Iteration algorithm. Looking
at Algorithm 5 reveals that we have to handle two major steps in every
iteration. We have to update the vector v and the decision rule d.
Solving the maximization in every iteration is easy since there are only
two actions, A = {T1,T»}. Hence updating d is easy. Furthermore, to
update v we have to solve the system

(Idv - )\Pd)v =Td. (4.10)

Here Pj is the transition probability matrix induced by the decision
rule d,

(Pa)ij = p(jli, d(i))

and r, is the induced reward,

(rq)i = r(i,d(i)).

Note that 7,7 € {1,..., (M]\j[r4)} are natural numbers but encode, via

wlz{l,...,<M]\}L4)}—>,}£f](j

a certain knowledge. Now each row of P; contains either one or two
non-zero entries. Row 4 contains exactly one non-zero entry if 1»~1(4)
is an absorbing state. In the other case we have, given the decision
rule d, only two possible successor states and hence only two non—zero
entries. In fact we even have

Lemma 4.9. For a given d € DPM the Matriz Py is a sparse upper
triangular matrix.
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Proof. For a given knowledge s = (s1, f1, 2, f2) we have four possible
successor states, (s1+1, f1, 52, f2), (s1, fi + 1, 52, f2), (51, f1, 82+ 1, f2)
and (s1, f1, 2, f2 +1). Now let s’ be an arbitrary successor state.
Then we have that 1(s) > ¢(s) what can be seen by comparison with
Algorithm 7, hence Py is an upper triangular matrix. The rest follows
from the discussion above. O]

Hence, we can solve the system of linear equations by a simple
bottom—up process. Beforehand we introduce the following notation:
To a given decision rule d and an internal state ¢ we denote with i+
and i— the two possible successor internal states, i+ corresponds to
the state if a success § is observed and i— corresponds to the state if a
failure § is observed. Let furthermore ¢ ~1(i) := (s1, f1, 52, f2). Then
we define

So+1
s2+fa+2

Da = 812212 if d((517f1,527f2)) =1
. otherwise.

Theorem 4.10. The vector v in Algorithm 5 is updated component-
wise via
(ra)i

T1-2

if ¥ ~1(i) is an absorbing state and

Vi

v; = (ra)i + A (pavi+ + (1 — pa)vi-)
if v1(i) = (s1, f1, 82, f2) i a non—absorbing state.
Proof. Comparison with (4.10). O

So one iteration of the Policy Iteration algorithm needs an effort of
O(|-#,]). Again the easy structure of the underlying infinite Markov
decision problem makes it computationally feasible to look at cases
M =~ 100 what yields roughly a state space size of 4,6 - 10°.

In Table 4.2 we find an overview for the iterates produced by Policy
Iteration with A = 0.99. We define
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Table 4.2: Overview of Policy Iteration

. Number of indices 7 with
Iterations lvns+1 — vnl] (ne1)i — (vn); > 0.0005

n=1 96, 15 2888420

n=2 8,42 1212473

n=3 2,83 1082316

n==~6 0,54 336533

n=9 0,26 33975
M PN

max(p1, . M F(p,
£(0) o= PLR) (Z N p((alloc(O)):) + 27 P12 (_191)\192)) .

i=1

When L£(O;) is small the allocation was good. In fact this formula is
very similar to that in the finite horizon case, we just discounted the
rewards to deal with finite sums. The rest is analogue to the finite
horizon case. Note that we now do not need an explicit estimate pu
for the patients outside the trial but therefore a discount factor A.
Looking at Figure 4.4 reveals that my/p is again better than mgg.
Using the Equal Randomization strategy all data point simulated lie
inside the whiskers, so there are no outliers in this case. The policy
myrp used for the simulation is constructed by Policy Iteration with
10 iterations.

4.3 Conclusio

We described a Markov decision problem model for clinical trials based
on [BE95], [Pre09], and [Put94]. In a trial we compare two treatments
Ty and T5, respectively. The goal is to find the superior treatment.
The knowledge about the treatments is encoded in a pair—one for
each treatment—of prior distributions. We restricted our attention to
beta distributed priors and hence are able to encode all information
in a four tuple (s1, f1, s2, f2), the numbers of successes and fails for
treatments 77 and T5. The statistic is updated after every allocation.
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Figure 4.4: Here p; = 0.8 is fixed and p2 varies from 0 to 1. For every po
value we simulate 100 clinical trials and therefore have 100 realiza-
tions of L(Or,, ) and L(Oxyy), respectively. Based on this data
for every p2 a box-plot is performed.
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The transition probabilities are based on the expected values of the
corresponding prior distributions, see 4.2 and 4.3. [Pre09] gives an
overview of possible reward models. In this thesis we took a closer
look at the so called “expected successes” reward model.

Based on the simulations we made we can say that the allocation
strategy based on the Markov decision problem model for clinical
trials is better than the Equal Randomisation strategy. First of all
the number of wrong decisions, this is the number of trials where the
better treatments was not detected is comparable with the number
of wrong decisions using Equal Randomization, see Figure 4.3 and
Figures A.1, A.2, and A.3 in the appendix. Additionally, the number
of study participants receiving the inferior treatment is much smaller
than in the Equal Randomization case, see Figure 4.2 and Figures
A4, A5, and A.6 in the appendix. However if the true unknown
success probabilities p; and po are close together there is not a big
difference between the two methods.

In the finite horizon framework we assumed to have an estimate
u for the patients outside the trial. If this is not the case one might
prefer the infinite horizon setting. Also in this case the Markov policy
is better than the Equal Randomization strategy, see Figure 4.4.

For a study size of M = 100, the optimal policy can be computed
in a few minutes, although we then already have a state space size of
roughly 4,6 - 105. Moreover, the optimal policy only has to be calcu-
lated once and can then be used for every clinical trial. Therefore, the
solution techniques presented in Chapters 2 and 3 can be successfully
applied to clinical trails.

Further developments might include improving the infinite horizon
model. Moreover, the presented models might be extended to more
than two treatments. In this case one needs methods for reducing the
state space since then the problem becomes computationally more
and more difficult.
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Figure A.1: p; is set to 0.6

T. Ondra, Optimized Response-Adaptive Clinical Trials, BestMasters,
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